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1. Six dice are thrown simultaneously. The probability that all of them

show the same face, is

D. none of these

Answer: B


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2L9DzE2cp2Ar

° Watch Video Solution

2. Six dice are thrown simultaneously. The probability that all of them

show the different faces, is

Answer: B

o Watch Video Solution

3. Six dice are thrown simultaneously. The probability that exactly three of
them show the same face and ramining three show different faces, is

(51

A. e



https://dl.doubtnut.com/l/_2L9DzE2cp2Ar
https://dl.doubtnut.com/l/_Zja0nEXxfhog
https://dl.doubtnut.com/l/_jrqBUTNkHhsy

Answer: C

° Watch Video Solution

4. Three numbers are chosen from 1 to 30. The probability that they are

not consecutive is

142
A —
145

144
B. —
145

143
C.—
145

1
D. —
145

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jrqBUTNkHhsy
https://dl.doubtnut.com/l/_N33mCET6a9EH

5. A die is tossed twice. The prbability of having a number greater than 4

on each toss is

Wl O~k W

1

D.
12

Answer: B

o Watch Video Solution

6. Suppose n( > 3) persons are sitting in a row. Two of them are selected

2

at random. The probability that they are not together is (A) 1 — — (B)
n
2 1
(C) 1 — — (D) nonoe of these
n—1 n

1
Al— —
n


https://dl.doubtnut.com/l/_N33mCET6a9EH
https://dl.doubtnut.com/l/_ORyXh5QCz8de
https://dl.doubtnut.com/l/_6m5dK4dMioq7

Answer: B

° Watch Video Solution

7. If six students, including two particular students A and B, stand in a
row, then the probability that A and B are separated with one student in
between them is

A.8/15

B.1/5

C.2/15

D.4/15

Answer: D

[ - 1


https://dl.doubtnut.com/l/_6m5dK4dMioq7
https://dl.doubtnut.com/l/_COsGxJxjALEG

| @J Watch Video Solution J

8. A sum of money is rounded off to the nearest rupee, find the

probability that the round off error is at least ten paise.

A E
100
82

" 101
19

" 100
19

> 101

Answer: A

o Watch Video Solution

9. Three different numbers are selected at random from the set
A =1{1,2,3,...,10}. The probability that the product of two of the

numbers is equal to third, is


https://dl.doubtnut.com/l/_COsGxJxjALEG
https://dl.doubtnut.com/l/_CmHXdhwkKv3e
https://dl.doubtnut.com/l/_o4tF3RTetDLX

Answer: B

o Watch Video Solution

10. Three numbers are chosen at random from numbers 1 to 30. The
probability that the minimum of the chosen numbers is 9 and maximum

is 25, is

(070]
w B
)

" 812

D. none of these


https://dl.doubtnut.com/l/_o4tF3RTetDLX
https://dl.doubtnut.com/l/_vUbgabbz7lyz

Answer: C

° Watch Video Solution

11. Three natural numbers are taken at random from the set of first 100

natural numbers. The probability that their AM. is 25, is

7 02

) .100 03
.25 02

" 100 Cs
.74 072

" 100 Cyr

D. none of these

Answer: C

° Watch Video Solution

12. The probability that out of 10 person, all born in June, at least two

have the same birthday is


https://dl.doubtnut.com/l/_vUbgabbz7lyz
https://dl.doubtnut.com/l/_BYj7S7UnMjNd
https://dl.doubtnut.com/l/_ZDloVe9C2fn5

.30 ClO
. (30)10
.30 ClO
30!
3010 — 30 ¢y
(30)10

C.

D. none of these

Answer: C

o Watch Video Solution

13. Five persons entered the lift cabin on the ground floor of an 8 floor
house. Suppose that each of them independently and with equal
probability can leave the cabin at any floor beginning with the first, then

the probability of al 5 persons leaving at different floor is

a .705 b .705 X 5' c. .705 X 5' d5—'
70 57 7 7

7
A G5



https://dl.doubtnut.com/l/_ZDloVe9C2fn5
https://dl.doubtnut.com/l/_iCvZ3CDBvvWS

Answer: C

° Watch Video Solution

14. An elevator starts with m passengers and stops at n floors (m < n)

the probability that no two passengers alight at same floor is :

TP

A i
mn
P

B. i
nm
' C

C. UL
mn
. C

D. L
,nm

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iCvZ3CDBvvWS
https://dl.doubtnut.com/l/_UkJiz2wgPlwO

15. Find the probability that the birth days of six different persons will fall

in exactly two calendar months.

Answer: D

o Watch Video Solution

16. Twelve balls are distributed among three boxes, find the probability

that the first box will contains three balls.

29
) 312
.12 Cg X 29
312
12 0y i 912

312

B.

C


https://dl.doubtnut.com/l/_7Y8ZvTzhqoZv
https://dl.doubtnut.com/l/_FdJSNYqPgezp

.12 03
123

D.

Answer: B

° Watch Video Solution

17. Two numbers b and c are chosen at random with replacement from
the numbers 1, 2, 3, 4, 5, 6, 7, 8 and 9. Find the probability that

?+br+c>0for allz € R

A 10
127

B 31
" 81

c 32
" 81

b 11
127

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FdJSNYqPgezp
https://dl.doubtnut.com/l/_9cWwxRYAFawb
https://dl.doubtnut.com/l/_I4HFb940a3GN

18.A 2 X 2 square matrix is written down at random using the number 1,

-1 as elements. The probability that the matrix is non-singular is

Al/2
B.3/8
C.5/8

D.1/3

Answer: A

o Watch Video Solution

19. Two persons each make a single throw with a- pair of dice. The

probability that the throws are equal, is

AT
" 648

B 73
1296

c 182
" 648


https://dl.doubtnut.com/l/_I4HFb940a3GN
https://dl.doubtnut.com/l/_pwKAJPkhu8Op

D. none of these

Answer: A

° Watch Video Solution

20. If n biscuits are distributed among N beggars, find the chance that a

particular beggar will get 'r(

(N _ l)n—T
AN
8 1 C,
. anr
.TL Cr(N - 1)T
C. N7
MCH(N -1
D. N
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pwKAJPkhu8Op
https://dl.doubtnut.com/l/_lIFRKCrvIQPW

21. A die is rolled thrice, find the probability of getting a larger number

each time than the previous number.

A5
54

B 5
" 216

c 15
" 216

D. none of these

Answer: A

o Watch Video Solution

22. What is the probability that for S comes consecutively in the word

'MISSISSIPPI

1
A.T%

2
B.T%

c 4
165


https://dl.doubtnut.com/l/_RgqkC77UQ233
https://dl.doubtnut.com/l/_GuhtyVDs5H3b

D. none of these

Answer: C

° Watch Video Solution

23. There are n stations between two cities A and B. A train is to stop at
three of these n stations. What is the probaility that no two of these

three stations are consecutive ?

a3
n(n — 1)
(n—3)(n —4)
"(n—1)(n—2)

c_n-4
n(n — 1)
(n—3)(n —4)

n(n — 1)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GuhtyVDs5H3b
https://dl.doubtnut.com/l/_6iSPpzxY598o
https://dl.doubtnut.com/l/_KrzWqurNRYo8

24. Out of 3n consecutive integers, there are selected at random. Find the

probability that their sum is divisible by 3.

71(3712 —3n + 2)

A. 5
5 3n2 —3n+2
2(3n — 1)(3n — 2)
3n? — 3n + 2

(3n —1)(3n — 2)
5 n(3n — 1)(3n — 2)
3(n —1)

Answer: C

o Watch Video Solution

25.Two distinct number x & y are chosen at random from the set {1,2,3

.., 30} . The probability that 2 — y? is divisible by 3 is :

5n — 3
A ——
2(3n — 1)
bn — 3
B, —M8¥ —
3(3n — 1)
3n—1
(5n — 3)


https://dl.doubtnut.com/l/_KrzWqurNRYo8
https://dl.doubtnut.com/l/_hFSGHa4I4MZ2

3n —1
D.———
2(5n — 3)

Answer: B

° Watch Video Solution

26. If two different numbers are taken from the set {0, 1, 2, 3, ..., 10}, then
the probability that their sum as well as absolute difference are both

multiples of 4, is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hFSGHa4I4MZ2
https://dl.doubtnut.com/l/_nyj6XCEBGatZ
https://dl.doubtnut.com/l/_Xpzz0T78L0E1

27. Two numbers a and b are chosen at random from the set {1,2,3,.,3n}.

The probability that a® + b is divisible by 3, is

O
W= o+

Answer: D

o Watch Video Solution

28. Two numbers a and b are chosen at random from the set {1,2,3,.,5n}.

The probability that a* — b* is divisible by 5, is

17n — 5
" 25n — 1
1™m +5
" 5(5n — 1)
17n — 5
" 5(5n — 1)


https://dl.doubtnut.com/l/_Xpzz0T78L0E1
https://dl.doubtnut.com/l/_MBNCUd1pyknv

D. none of these

Answer: C

° Watch Video Solution

29. Two non negative integers are chosen at random. The probability that

the sum of the square is divisible by 10, is

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MBNCUd1pyknv
https://dl.doubtnut.com/l/_vkUy5kQ2Mzov

30. Two numbers a and b are selected ar random from 1, 2, ,3,., 100 and a

multipied. Then, the probability that the product ab is divisible by 3, is

o7
" 150

83
150

Answer: B

o Watch Video Solution

31. The digits 1,2,3,4,5,6,7,8 and 9 are written in random order to form a

nine digit number. The probability that this number is divisible by 4, is

Ol W O


https://dl.doubtnut.com/l/_vFT0Gb1Pg8KL
https://dl.doubtnut.com/l/_Fei488CZ6L82

Answer: C

° Watch Video Solution

32. Each coefficient in the equation az? + bz + ¢ = 0 is determined by
throwing an ordinary six faced die. Find the probability that the equation

will have real roots.

42
" 216

4
" 216

43
216

39

> 216

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Fei488CZ6L82
https://dl.doubtnut.com/l/_P3pZW7yURnyb
https://dl.doubtnut.com/l/_R5vTV8sR9LXN

33.1f a € [ — 20, 0], find the probability that the graph of the function

y = 16z + 8(a + 5)z — Ta — 5 is strickly above the X-axis.

17
" 20

Answer: B

o Watch Video Solution

34. Two points P and Q are taken at random on aline segment OA of

length a. The probability that PQ > b, where 0 < b < a,is


https://dl.doubtnut.com/l/_R5vTV8sR9LXN
https://dl.doubtnut.com/l/_KATmifF85nwP

D.1 - —

Answer: A

° Watch Video Solution

35. If P(A) =1/4,P(B) =1/2,P(AUB) =5/8, then P(AN B)
A.3/8
B.1/8
C.2/8

D.5/8

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KATmifF85nwP
https://dl.doubtnut.com/l/_V6BIJhS29WTR

36. A die is thrown. Let A be the event that the number obtained is

greater than 3. Let B be the event that the number obtained is less than
i 3 2

5.Then P(A U B) is (1) 5 (2)0(3)1(4) 3

Al

B.2/5

c.3/5

D.0

Answer: A

o Watch Video Solution

37. about to only mathematics

A.P(AN B) > P(A) + P(B)

B.P(AU B) < P(A) + P(B)

C.P(ANB) = P(A) + P(B)


https://dl.doubtnut.com/l/_ZCizLi8HmPv6
https://dl.doubtnut.com/l/_xAtu4ka0swpC

D. none of these

Answer: B

° Watch Video Solution

38.If A and B are two given events, then P(A N B) is

A. not less than P(A)+P(B)-1
B. not greater than P(A) + P(B) — P(A U B)
C.equal to P(A) + P(B) + P(AN B)

D.equl to P(A) + P(B) + P(A U B)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xAtu4ka0swpC
https://dl.doubtnut.com/l/_9p2hOrdJOFh1

39.If Ay, Agy oo oo oo o ..., A, be any events of the same sample space

then

AP(AJUA,U.. UA,) = P(A;) + P(4y) +.. + P(A,)
B.P(AiUA,U.. UA,) > P(A4,) + P(A,) +.. + P(4A,)
CP(A UAyU.. UA,) < P(A;) + Py, +.. +P(A,)

D. none of these

Answer: C

o Watch Video Solution

40. An integer is chosen at random from the first two hundred positive
integers . What is the probability that the integer chosen is divisible by 6
or8?

A1/3

B.1/4


https://dl.doubtnut.com/l/_K84glvVbAU32
https://dl.doubtnut.com/l/_WhxqBBVPSwSZ

Cc.1/5

D. none of these

Answer: B

° Watch Video Solution

41. Odds in favour of an event A are 2 to 1 and odds in favour of A U B

are 3 to 1. Consistant with his information the smallest and largest values

for the probability of event B are given by

1 3
= < < =
¢ 12_P(B)_4

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_WhxqBBVPSwSZ
https://dl.doubtnut.com/l/_bwMWCBZrCO9Z

42.Find the probability of 53 mondays and in a leap year.

o Watch Video Solution

43. For three events A, B and C, P (Exactly one of A or B occurs) = P
1
(Exactly one of B or C occurs) = P (Exactly one of C or A occurs) = 1

1
and P (All the three events occur simultaneously) = ra Then the

3
probability that at least one of the events occurs, is : 6_74 (2) 16 (3) 35
7
4) —
(4) 16

3p + 2p?
A P A
)
p + 3p?
2
3p + p?
9
3p + 2p?
D.—p+p
4

B.

C.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bwMWCBZrCO9Z
https://dl.doubtnut.com/l/_pk5jNaF0Ds07
https://dl.doubtnut.com/l/_TPTAWpHDDCod

44.For three events A, B and C, P (Exactly one of A or B occurs) = P

1

(Exactly one of B or C occurs) = P (Exactly one of C or A occurs) = —
1

and P (All the three events occur simultaneously) = 3 Then the

probability that at least one of the events occurs, is : i (2) i (3) i
64 16 32

7

(4) 16

Answer: B

o Watch Video Solution

45. If AB and C are three events, such that P(A)=0.3, P(B)=0.4, P(C)=0.8,

P(AB)=0.08, P(AC)=0.28, P(ABC)=0.09. If P(A U B U C) > 0.75, then show


https://dl.doubtnut.com/l/_TPTAWpHDDCod
https://dl.doubtnut.com/l/_Cd4vOBUPrOAs
https://dl.doubtnut.com/l/_zrI0hUTtcGIY

that P(BC) kies in the interval 0.23 < z < 0.48

A.P(BNC) < 0.23
B.P(BNC) < 0.48
C.0.23 < P(BNC) < 0.48

D.0.23 < P(BNC) < 0.48

Answer: C,D

o Watch Video Solution

46. A die is thrown twice and the sum of the numbers appearing is
observed to be 6. What is the conditional probability that the number 4

has appeared at least once?

>

w
() gl O w
g e |

N


https://dl.doubtnut.com/l/_zrI0hUTtcGIY
https://dl.doubtnut.com/l/_zP8c2sfCP1TP

Answer: B

° Watch Video Solution

47.Two integers are selected at random from integers 1 through 11. If the

sum is even, find the probability that both the numbers are odd.

gl o= o ot w

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_zP8c2sfCP1TP
https://dl.doubtnut.com/l/_ObHd4yhLpykO

48. A bag contains 10 white and 15 black balls. Two balls are drawn in
succession without replacement. What is the probability that first is white

and second is black?

U= x| = oot o o

Answer: C

o Watch Video Solution

49. Find the probability of drawing a diamond card in each of the two
consecutive draws from a well shuffled pack of cards, if the card drawn is

not replaced after the first draw.


https://dl.doubtnut.com/l/_qi8ElszyPGfx
https://dl.doubtnut.com/l/_UyoEQgGleJDg

C—
17

D. none of these

Answer: C

o Watch Video Solution

50. Two balls are drawn from an urn containing 2 white, 3 red and 4 black

balls one by one without replacement. What is the probability that at

least one ball is red?

| ot w| 5|U‘ 5'“1

Answer: A

[ -


https://dl.doubtnut.com/l/_UyoEQgGleJDg
https://dl.doubtnut.com/l/_b1cQkUtxIwHy

| @ Watch Video Solution J

51. A consignment of 15 record players contain 4 defectives. The record
players are selected at random, one by one and examined. The one

examined is not put back. Then : Find the Probability that 9" one

8

ined is the last defective is —.

examlned IS e las erective Is 195

A0y x 1Oy
15 Cg

5 A0 x 1Oy
15 G

Mo, 1

X —_—

15 O 7

1

7

A.

X

NI

C.

ACy
A1 o

D.

X

Answer: B

o Watch Video Solution

52. It is given that the events A and B are such that

1 /A 1 B P 11
P(A) = e P<§> = 5andp<z> =3 Then P(B) is: (1) 5 (2) 3 (3)


https://dl.doubtnut.com/l/_b1cQkUtxIwHy
https://dl.doubtnut.com/l/_urhYUZv3YztN
https://dl.doubtnut.com/l/_BBJKKBRrLjfD

(4)

w| o

Wl o= = W

Answer: D

o Watch Video Solution

53. One ticket is selected at ransom form 50 tickets numbered
00, 01, 02, ..., 49. Then the probability that the sum of the digits on the

selected ticket is 8, given that the product of these digits is zero, is


https://dl.doubtnut.com/l/_BBJKKBRrLjfD
https://dl.doubtnut.com/l/_lWQMP3Uozani

Answer: A

° Watch Video Solution

54, Let X and Y be two

1 1 2
P(X) =5, P(X|Y) =5 and P(Y | X) = ¢. Then

AP(X/)Y) = %

B.P(XNY) =

ol o =

CP(XUY) =

Answer: A::D

events

such

that

° Watch Video Solution



https://dl.doubtnut.com/l/_lWQMP3Uozani
https://dl.doubtnut.com/l/_Grz5MRBNVp6y

2
55. If A and B are any two events such that P(A) = 5 and

3
P(ANB) = 20 then the conditional probability P(A | (A" UB’))

where A’ denotes the complement of A is equal to

Y - N R —
c:|»—l \1|°‘ | \1|°°

Answer: C

o Watch Video Solution

S 1 1

56. Let A and B be two events such that p(A U B) =5 p(ANB) = 1
— 1 —

and p(A) =71 where A stands for the complement of the event A

Then the events A and B are (1) mutually exclusive and independent (2)

equally likely but not independent (3) independent but not equally likely

(4) independent and equally likely


https://dl.doubtnut.com/l/_D9UxqDgGUQGN
https://dl.doubtnut.com/l/_86cZGR1vgI1b

A. mutually exclusive and independent

B. independent but not equally likely

C. equally likely but not independent

D. equally likely and mutually exclusive

Answer: B

o Watch Video Solution

57. Two aeroplanes | and Il bomb a target in succession. The probabilities
of I and Il scoring a hit correctly are 0.3 and 0.2, respectively. The second
plane will bomb only if the first misses the target. The probability that the

target is hit by the second plane is (A) 0.06

7
(B) 0.14 (C) 5 (D) 0.7
A.0.2
B.0.7

C.0.06


https://dl.doubtnut.com/l/_86cZGR1vgI1b
https://dl.doubtnut.com/l/_wU7eoygWkIHM

D.0.14

Answer: D

° Watch Video Solution

1 5
58.If (A) = -, P(B) = 3 and P(AUB) = B then events A and B
A. mutually exclusive
B. independent as well as mutually exclusive
C.independent

D. dependent only on A

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wU7eoygWkIHM
https://dl.doubtnut.com/l/_fnLDRpr7SYLC

50. If P(AnB)=1/3,P(AUB) =5/6 and P(A) =1/2, then
which one of the following is correct ?

A. A and B are independent events

B. A and B are mutually exclusive events

C. P(A)=P(B)

D. P(A) < P(B)

Answer: A,D

o Watch Video Solution

60. If A and B are independent events of a random experiment such

1 — = 1
that P(AN B) = 8 and P(ANB) = 3 then P(A) =

S|~ W=k |


https://dl.doubtnut.com/l/_6WECjn4PnmoX
https://dl.doubtnut.com/l/_YK7Q08BSEowq

Answer: B

° Watch Video Solution

61. If A and B are two independent events such that

2
P(B) = +,, P(AUB) = 0.8 then P(A) =

A. 01
B.0.2
C.03

D.04

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_YK7Q08BSEowq
https://dl.doubtnut.com/l/_tBm5gHYAVc8Q

62. Let two fari six-faced dice A and B be thrown simltaneously. If E; is the
event that die A shows up four, E, is the event that die B shows up two
and Ej is the event that the sum of numbers on both dice isodd, then
which of the following statement is NOT True ?

A. E; and E, are independent

B.E, and Ej areindependent

C.E; and Ej areindependent

D.E;, E; and Ej areindependent

Answer: D

° Watch Video Solution

S 1 1
63. Let A and B be two events such that p(A U B) =5 p(ANB) = 1
and p(Z) =71 where A stands for the complement of the event A.

Then the events A and B are (1) mutually exclusive and independent (2)


https://dl.doubtnut.com/l/_qknFDO9PWRKU
https://dl.doubtnut.com/l/_rai59XmBkfVw

equally likely but not independent (3) independent but not equally likely
(4) independent and equally likely

A.independent but not equally likely

B. independent and equally likely

C. mutually exclusive and independent

D. equally likely but not independent

Answer: A

o Watch Video Solution

64. A box contains 4 white and 5 black balls. A ball is drawn at random
and its colour is noted. A ball is then put back in the box along with two
additional balls of its opposite colour. If a ball is drawn again from the

box, then the probability that the ball drawn now is black, is


https://dl.doubtnut.com/l/_rai59XmBkfVw
https://dl.doubtnut.com/l/_ZsyYxUk93DvV

53
99

48
99

Answer: C

o Watch Video Solution

65. If from each of the three boxes containing 3 whiter and 1 black, 2
white and 2 black, 1 white and 3 black ball, one bal is drawn at random,

then the probability that 2 white and 1 black ball will be drawn is 1/3 b.

1/6c1/2d.1/4

— w == W
cn|°° w|"‘ | w|w

Answer: A



https://dl.doubtnut.com/l/_ZsyYxUk93DvV
https://dl.doubtnut.com/l/_Ym5TgkCMleuU

l @ yvatch video Solution ]

66. A bag contains 16 coins of which two are counterfeit with heads on
both sides. The rest are fair coins. One is selected at random from the
bag and tossed. The probability of getting a head is

A.9/16

B.11/16

C.5/9

D. none of these

Answer: A

o Watch Video Solution

67. A bag contains n + 1 coins. If is known that one of these coins shows

heads on both sides, whereas the other coins are fair. One coin is selected


https://dl.doubtnut.com/l/_Ym5TgkCMleuU
https://dl.doubtnut.com/l/_vyTI8uo0460j
https://dl.doubtnut.com/l/_3wOUdBj2Z3Ik

at random and tossed. If the probability that toss results in heads is 7/12,

then find the value of n.

A3

B.4

C.5

D. none of these

Answer: C

o Watch Video Solution

68. A pack of cards consists of 15 cards numbered 1 to 15. Three cards are
drawn at random with replacement. Then, the probability of getting 2odd

and one even numbered cards is

A 348
- 1125

B 398
T 1125

c 448
T 1125


https://dl.doubtnut.com/l/_3wOUdBj2Z3Ik
https://dl.doubtnut.com/l/_56B0fzSxCvqa

b 498
T 1125

Answer: C

° Watch Video Solution

69. X speaks truth in 60% and Y in 50% of the cases. Find the probability

that they contradict each other narrating the same incident.

U U ) N Y

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_56B0fzSxCvqa
https://dl.doubtnut.com/l/_fnGOHn7ICmWb

70. The chance of defective screws in three boxes
A, B,Carel/5,1/6,1/7, respectively. A box is selected at random and
a screw draw in from it at random is found to be defective. Then find the
probability that it came from box A.

A.16/29

B.1/15

C.27/59

D.42/107

Answer: D

o Watch Video Solution

71.1n an entrance test, there are multiple choice questions. There are four
possible answers to each question, of which one is correct. The

probability that a student knows the answer to a question is 90%. If the


https://dl.doubtnut.com/l/_2mOBzOoEDEeY
https://dl.doubtnut.com/l/_GoG9Ry5tthY9

gets the correct answer to a question, then find the probability that he

was guessing.

Answer: C

o Watch Video Solution

72 AP INRASdE P ag 4 § & 3 IR I SiadT &1 I8 U U bl

3BT & 3R FdeTdr € 6 39 R 371 aTell T 6 g1 29 P i siid HifSv
o5 U= 317 aTel T aRad H 6 &1

A.3/8
B.1/5

C.3/4


https://dl.doubtnut.com/l/_GoG9Ry5tthY9
https://dl.doubtnut.com/l/_1XT56GgaYlz6

D. none of these

Answer: A

° View Text Solution

Section | - Solved Mcgs

1. Five persons AB,C,D and E are standing in a queve of a ration shop . The

probability that A and R are always togethar is .

aglw U W R

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1XT56GgaYlz6
https://dl.doubtnut.com/l/_N7YjmXMngeb6

2. Three houses are available in a locality . Three persons apply for the
houses . Each applies for one house without consulting others . The

probability that all three apply for same house is

Ol o= ©|w |

Answer: C

o Watch Video Solution

3. For a party 7 guests are invited by a husband and his wife. They sit in a
row for dinner. The probability that the husband and his wife sit together,

is

NN


https://dl.doubtnut.com/l/_R7FKMoxjY8lN
https://dl.doubtnut.com/l/_laR2Wl8nrngG

n @

o
Ol O]~ |

Answer: B

° Watch Video Solution

4. Let z = 33" . The index n is given a positive integral value at random.

The probability that the value of x will have 3 in the units place is

N w >

O
Y I e N -] R

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_laR2Wl8nrngG
https://dl.doubtnut.com/l/_KaSz6EDGsFHU

5. Two integers xandy are chosen with replacement out of the set

{0,1,,2,3,.... .10} Then find the probability that |z — y| > 5.

A 81
T 121

30
S 121

25
T 121

b 20
T 121

Answer: B

o Watch Video Solution

6. Given that the sum of two non-negative quantities is 200, the
probability that their product is not less than 3/4 times their greatest

product value is

A.7/16


https://dl.doubtnut.com/l/_KaSz6EDGsFHU
https://dl.doubtnut.com/l/_ovbPuN09MmUx
https://dl.doubtnut.com/l/_dJ09EHUNy9Zm

B.8/16
C.9/16

D.10/16

Answer: B

o Watch Video Solution

7.1f three distinct number are chosen randomly from the first 100 natural
numbers, then the probability that all three of them are divisible by both

2and3is4/25b.4/35¢c.4/33d.4/1155

Answer: D

[ - ]


https://dl.doubtnut.com/l/_dJ09EHUNy9Zm
https://dl.doubtnut.com/l/_il3S1Y86f577

| @J Watch Video Solution J

8. A five digit number is formed but the digits 1,2,3,4,5 without repetition.

Find the probability that the number is divisible by 4.

oo O = 01|§ o] w

Answer: C

o Watch Video Solution

9. In a party 23 persons take their seats at a round table. The odds

against two particular persons sitting together are :

A 10:1


https://dl.doubtnut.com/l/_il3S1Y86f577
https://dl.doubtnut.com/l/_NCzUxKKZrkdr
https://dl.doubtnut.com/l/_7l3V42LT5dNX

B.1:11

C.9:10

D. none of these

Answer: A

° Watch Video Solution

10. about to only mathematics

@l,_. | = = =

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7l3V42LT5dNX
https://dl.doubtnut.com/l/_Bmrzc5kYpeoY
https://dl.doubtnut.com/l/_YBooDGlKREGs

1. A committee of five is to be chosen from a group of 9 people. The
probability that a certain married couple will either serve together or not

at all is

O|lot |~ Ol W

Answer: B

o Watch Video Solution

12. A five digit number if formed by the digits 1,2,3,4,56 and 8. The

probability that the number has even digit at both ends is

RN {3t


https://dl.doubtnut.com/l/_YBooDGlKREGs
https://dl.doubtnut.com/l/_6fx7YFZAPkeW

C2
7

D. none of these

Answer: C

° Watch Video Solution

13. Four digit numbers with different digits are formed using the digits
1,2,3,4,5,6,7, 8 One number from them is picked up at random. The

chance that the selected number contains the digit '1" is

° Watch Video Solution

14. If n biscuits are distributed among N beggars, find the chance that a

particular beggar will get 'r(

. 1 T N—]_ n—r
a3 (25)

O,

NT‘

B.



https://dl.doubtnut.com/l/_6fx7YFZAPkeW
https://dl.doubtnut.com/l/_6DiW3Grd0EmY
https://dl.doubtnut.com/l/_yWFYsLl4Lsgn

Answer: A

° Watch Video Solution

15. Seven white balls and three black balls are randomly placed in a row.

The probability that no two black balls are placed adjacently, equals :

@ >
W = E|N ;'Q Y

N

o

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yWFYsLl4Lsgn
https://dl.doubtnut.com/l/_CCMnilxIJxNq
https://dl.doubtnut.com/l/_uPI2qAabfGsK

16.Let x = 33" . The index n is given a positive integral value at random.

The probability that the value of x will have 3 in the units place is

1
A.E
1
B.g
1
C.Z

D. none of these

Answer: C

o Watch Video Solution

17. Number 1, 2, 3, ..100 are written down on each of the cards A, B, and C.
One number is selected at random from each of the cards. Then find the
probability that the numbers so selected can be the measures (in cm) of

three sides of right-angled triangles, no two of which are similar.

4
A.
1003



https://dl.doubtnut.com/l/_uPI2qAabfGsK
https://dl.doubtnut.com/l/_dOw8eudiB4j2

5 3
" 503

31
" 1003

D. none of these

Answer: D

° Watch Video Solution

18. Three distinct numbers are chosen at random from the first 15 natural

numbers. The probability that the sum will be divisible by 3 is

30
91
31
91
60
91

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dOw8eudiB4j2
https://dl.doubtnut.com/l/_leRsQK3mJTn8

19. Three persons A, B and C are to speak at a function along with five
others. If they all speak in random order, then probability that A speaks
before B and B speaks before C is

A.3/8

B.1/6

C.3/5

D. none of these

Answer: B

o Watch Video Solution

20. A team of 8 couples (husband and wife) attend a lucky draw in which 4
persons picked for a prize. Then the probability that there is at least one

coupleis


https://dl.doubtnut.com/l/_leRsQK3mJTn8
https://dl.doubtnut.com/l/_uPAmwsuYvyEO
https://dl.doubtnut.com/l/_ecX8mVCcVb1k

A.11/39
B.12/39
C.14/39

D.15/39

Answer: D

o Watch Video Solution

21. 2n boys are randomly divided into two subgroups containint n boys
each. The probability that eh two tallest boys are in different groups is

n/(2n —1)b.(n —1)/(2n — 1) c. (n — 1) /4n® d. none of these

n
"2n—1

n—1
"2n—1
2n — 1
4n?

D. none of these


https://dl.doubtnut.com/l/_ecX8mVCcVb1k
https://dl.doubtnut.com/l/_tzd27EQ5sJrp

Answer: A

° Watch Video Solution

22. A car is parked by an owner amongst 25 cars in a row, not at either
end. On his return he finds that exactly 15 places are still occupied. The

probability that both the neighboring places are empty is

A 91
" 276

B 15
184

c 15
" 92

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tzd27EQ5sJrp
https://dl.doubtnut.com/l/_8QpqFNuDxKxx

23.There is a five —volume dictionary among 50 books arranged on a shelf
in a random order. If the volumes are not necessarily kept side-by-side,

the probability that they occur in increasing order from left to right is:

c.—
50°

D. none of these

Answer: D

o Watch Video Solution

24. If 10 objects are distributed at random among 10 persons, then find

the probability that at least one of them will not get anything.

10 — 10
1010
10 — 10!


https://dl.doubtnut.com/l/_W3hBEoDIHa4Q
https://dl.doubtnut.com/l/_0ePJe9yHATXh

101 — 1
1010

D. none of these

Answer: B

° Watch Video Solution

25. The numbers 1, 2, 3, ., n are arrange in a random order. The

probability that the digits 1, 2, 3, ., k(k < n) appear as neighbours in

that order is

D. none of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_0ePJe9yHATXh
https://dl.doubtnut.com/l/_Cw9mc8dfHbDc

26. The numbers 1, 2, 3, .., n are arrange in a random order. The
probability that the digits 1, 2, 3, ., k(k < n) appear as neighbours in

that order is

n—k)!
A.—( oy )
n—k+1
n—k
O

B.

C.

Answer: B

o Watch Video Solution

27. 10 mangoes are to be distributed among 5 persons. The probability

that at least one of them will receive none, is

A 35
" 143


https://dl.doubtnut.com/l/_Cw9mc8dfHbDc
https://dl.doubtnut.com/l/_ta7ix4EJTCrn
https://dl.doubtnut.com/l/_ODRqL7QJGlHL

B 108
" 143

c 18
143

b 125
143

Answer: D

o Watch Video Solution

28.There are four machines and it is known that exactly two of them are
faulty. They are tested, one by one, in a random order till both the faulty
machines are identified. Then, the probability that only two tests are
needed, is :

A1/3

B.1/6

C.1/2

D.1/4


https://dl.doubtnut.com/l/_ODRqL7QJGlHL
https://dl.doubtnut.com/l/_HFSajOsJHEHC

Answer: B

° Watch Video Solution

29. In a convex hexagon two diagonals are drawn at random. The
probability that the diagonals intersect at an interior point of the
hexagon is

A.5/12

B.7/12

C.2/5

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HFSajOsJHEHC
https://dl.doubtnut.com/l/_RvflQan7ODw3

30. Fifteen persons, among whom are A and B, sit down at random on a

round table. The probability that there are 4 persons between A and B, is

9!
14!
10!
S14!

9!
" 15!

D. none of these

Answer: D

o Watch Video Solution

31. A and B play a game where each is asked to select a number from 1 to
25 . If the two numbers match ,both of them win a prize . The probability
that they will not win a prize in a single trial is,

A1/25

B.24/25


https://dl.doubtnut.com/l/_bdstFMIunIZY
https://dl.doubtnut.com/l/_Q9rVZFJlI4GC

C.2/25

D. none of these

Answer: B

° Watch Video Solution

32. three identical dice are rolled . Find the probability that the same

number will appear on each of them .
A 1
6

1
©36

1
18

—

3
2

oo

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Q9rVZFJlI4GC
https://dl.doubtnut.com/l/_Rge0BhHVzqRE
https://dl.doubtnut.com/l/_ultZKEVpFI7j

33. Three identical dice are thrown together. Find the probability that

distinct numbers appear on them.

o
O W OOt Ol
= glon @l |

Answer: B

o Watch Video Solution

34. Three dice are thrown. The probability that the sum of the numbers

appearing is 15, is :

" 216

47
54

54


https://dl.doubtnut.com/l/_ultZKEVpFI7j
https://dl.doubtnut.com/l/_jxdfRUZYBrLW

Answer: C

° Watch Video Solution

35. If four dice are thrown together. Probability that the sum of the

number appearing on them is 13, is

A 35
" 324

5
" 216
11
" 216
11
432

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_jxdfRUZYBrLW
https://dl.doubtnut.com/l/_xpPE1kfa4j5g

36. A bag contains four tickets numbered 00, 01, 10 and 11. Four tickets are
chosen at random with replacement, then the probability that sum of the

numbers on the tickets is 23, is

A 25
" 256

B 25
" 512

c 25
1024

b 25
S 128

Answer: B

o Watch Video Solution

37. Three six faced fair dice are thrown together.The probability that the

sum of the numbers appearing on the dice is k(3 < k < 8), is

k2
A.E
k(k—1
g FE—1)
432


https://dl.doubtnut.com/l/_qv26XudF4k4s
https://dl.doubtnut.com/l/_pIdwYQET1cb7

(k—1)(k —2)
c. 432
k(k — 1)(k — 2)
432

Answer: C

° Watch Video Solution

38.Three six-faced dice are thrown together. The probability that the sum

of the numbers appearing on the dice is k(9 < k < 14),is

21k — k* — 83
A

216

8 k2 — 3k + 2
' 432

c 21k — k? — 83
' 432

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pIdwYQET1cb7
https://dl.doubtnut.com/l/_qMDxie37o0Y3
https://dl.doubtnut.com/l/_I3j9zjYijASF

39. Let w be a complex cube root of unity with w # 1. A fair die is thrown

three times. If r{, ry and r3 are the numbers obtained on the die, then

the probability that w™ + w™ 4+ W™ = 0is

® >
g|,_. ol o §|,_.

N

o

Answer: C

o Watch Video Solution

40. Six faces of a die are marked with numbers 1, — 1,0, — 2,2, 3 and

the die is thrown thrice. The probability that the sum of the numbers

thrown is six, is


https://dl.doubtnut.com/l/_I3j9zjYijASF
https://dl.doubtnut.com/l/_an9QpJgrqjUL

Answer: C

° Watch Video Solution

41. Three dice are thrown. The probability of getting a sum which is a

perfect square, is

A.2/5
B.9/20
c.1/4

D. none of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_an9QpJgrqjUL
https://dl.doubtnut.com/l/_CQVIYtrakmwv

42. A is a set containing n elements, A subset P (may be void also) is
selected at random from set A and the set A is then reconstructed by
replacing the elements of P. A subset Q (may be void also) of A is again

chosen at random. The probability that

; LS TColumnd b ~ Column-ll
| is“mbel' of elements in Pis equal to the number of elements inQ| (P) e
| .
(B) | The number of elements in P is more than that in Q is @| @*-%c,)
2w
©) [PnQ=¢is R Chq
4" ‘
(D) |Qis asubsetof Pis (s) 3" |
(1) i ®
pr=

>

= N
~_
3

N

o

w
AN R /N /N
| o
~_
3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CQVIYtrakmwv
https://dl.doubtnut.com/l/_DyszlzcTkWzM

43. A is a set containing n elements, A subset P (may be void also) is
selected at random from set A and the set A is then reconstructed by
replacing the elements of P. A subset Q (may be void also) of A is again

chosen at random. The probability that

“Colamnt

L b __Column-l|
(A) | Number of elements in Pis equal to the number of elements inQ| (P) e,
1 15 4"
(B) | The number of elements in P is more than that in Q is @ @*-%c,)
22&1
(©) |PAQ=4¢is ® e
4 |
(D) |Qis asubset of Pis s (g "
(T ey
4™

>
| =

3

@

o N
TN TN TN N

Wl A= | w
N——
3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DyszlzcTkWzM
https://dl.doubtnut.com/l/_Xc1bKqoUY2I1

44.Ais a set containing n elements. A subset P of A is chosen at random.
The set A is reconstructed by replacing the elements of P. A subset Q is

again chosen at random. The Probability that P U Q = A, is

Answer: B

o Watch Video Solution

45.Ais a set containing n elements. A subset P of A is chosen at random.
The set A is reconstructed by replacing the elements of P. A subset Q is

again chosen at random. The Probability that P N @ contain just one

element, is


https://dl.doubtnut.com/l/_Xc1bKqoUY2I1
https://dl.doubtnut.com/l/_FKk4xUfXhY7T
https://dl.doubtnut.com/l/_qQHFu1HqffVS

Answer: C

o Watch Video Solution

46. A is a set containing n elements. A subset P of A is chosen at random.
The set A is reconstructed by replacing the elements of P. A subset Q is
again chosen at random. The Probability that P U ) contain just one

element, is


https://dl.doubtnut.com/l/_qQHFu1HqffVS
https://dl.doubtnut.com/l/_EmQr70rXrLiP

Answer: B

° Watch Video Solution

47.Ais a set containing n elements. A subset P of A is chosen at random.
The set A is reconstructed by replacing the elements of P. A subset Q is

again chosen at random. The Probability that Q is a subset of P, is

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_EmQr70rXrLiP
https://dl.doubtnut.com/l/_FGE7EvdxqJH6

48. A is a set containing n elements. A subset P of A is chosen at random.
The set A is reconstructed by replacing the elements of P. A subset Q is
again chosen at random. The Probability that P and Q have equal number
of elements, is
3\ "
A (z)

2nC
B. —=

Answer: B

o Watch Video Solution

49. A is a set containing n elements. A subset P of A is chosen at random.
The set A is reconstructed by replacing the elements of P. A subset Q is
again chosen at random. The probability that Q contains just one

element more than P, is


https://dl.doubtnut.com/l/_LpMXOY5OUzdw
https://dl.doubtnut.com/l/_53BNomknNRNP

Answer: D

o Watch Video Solution

50. Let A be a set containing n elements A subset P of the set A is chosen
at random. The set A is reconstructed by replacing the elements of P, and
another subset Q of A is chosen at random. The probability that P N Q

contains exactly m(m < n) elements is

3n—m
A.

4TL

T Cp o x 3™
B,

o) x 3vTm
C. m4n

D. none of these


https://dl.doubtnut.com/l/_53BNomknNRNP
https://dl.doubtnut.com/l/_sEPmjTYmEdT3

Answer: C

° Watch Video Solution

51. A subset A of the set X={1,2,3,.,100} is chosen at random. The set X is
reconstructed by replacing the elements of A, and another subset B of X
is chosen at random. The probability that A N B contains exactly 10

elements, is

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sEPmjTYmEdT3
https://dl.doubtnut.com/l/_xZfwH0F7KqGz

52. Let S be the universal set and (n) X = n . The probability of selecting

two subsets A and B of the X such that B = 4 s :

Answer: B

o Watch Video Solution

53. Four numbers are multiplied together. Then the probability that the

369 399 123
product will be divisible by 5 or 10 is a. b C d. none of

625 625 — 625

these

A 369
" 625

B 399
" 625


https://dl.doubtnut.com/l/_PGsCfDgPrAvq
https://dl.doubtnut.com/l/_D46cEd0o61Sz

c 123
625

5 133
" 625

Answer: A

° Watch Video Solution

54. If E and Fare the complementary events of events E and F,
respectively, and if P(F) € [0,1]

A P(E/F)+P(E/F) =1

B.P(E/F)+ P(E/F) =1

CP(E/F)+P(E/F)=1

D.P(E/F)+ P(E/F) =1

Answer: A::D

° Watch Video Solution



https://dl.doubtnut.com/l/_D46cEd0o61Sz
https://dl.doubtnut.com/l/_F59f38buBalo
https://dl.doubtnut.com/l/_Vr43vQcCuQ42

55. If A and B are two mutually exclusive events, then the relation

between P(A) and P(B)is

A.P(A) < P(B)
B. P(A) > P(B)
C.P(A) < P(B)

D. none of these

Answer: A

o Watch Video Solution

56.1f A and B are two events, the probability that at most one of these
events occurs is

A.l— P(ANB)

B.P(A) + P(B) — P(A N B)

C.P(A)+P(B)+P(AUB) -1


https://dl.doubtnut.com/l/_Vr43vQcCuQ42
https://dl.doubtnut.com/l/_2X6zMeqPk5n9

D. all the above

Answer: D

° Watch Video Solution

57. The probability of the simultaneous occurrence of two events A and B

is p. If the probability that exactly one of A, B occurs is g, then :

AP(A)+P(B)=2+2¢—p

B.P(A) +P(B) =2—-2p—¢q

CP(ANB/AUB) = —2—

pt+4q

D.P(ZDE) =1—-p—gq

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2X6zMeqPk5n9
https://dl.doubtnut.com/l/_MSbshrxC86sr

58.1f M and N are any two events, the probability that atleast one of them
occurs is

A.P(A) + P(B) — 2p(A N B)

B.P(ANB) + P(ANB)

C.P(ANB) - P(ANB)

D.P(A) + P(B) —2P(A N B)

Answer: D

o Watch Video Solution

59. Which of the following is (are) incorrect ?

A. P(Exatly two of A, B, C occur)
<P(ANB)+P(BNC)+P(CNA)

B.P(AUBUC) < P(A) + P(B) + P(C)


https://dl.doubtnut.com/l/_VbhDsZspCAE1
https://dl.doubtnut.com/l/_yGvkZP3HWF7l

C. P(Exactly one of

A, B, C occur)

< P(A)+ P(B) + P(C) — P(BNC) — P(CNA)—-P(ANB)

D. P(A and at least one of B ¢, occurs) > P(ANB) + P(ANC)

Answer: D

° Watch Video Solution

1 2
60. If A and B are two events such that P(A) = 3 and P(B) = 3 then
which of the following is incorrect ?

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yGvkZP3HWF7l
https://dl.doubtnut.com/l/_NbCpTghxkK1k

3 2
61. For two events A and B let, P(A) = 5 P(B) = 3 then which of the

following is/are correct ?
A P(AUB)>2/3
B.4/15 < P(ANB) <3/5
C.2/5<P(A/B) <9/10

D.P(ANB) >1/3

Answer: D

o Watch Video Solution

62. A and B are two events such that odds odds against Aare 2: 1 odds in

favour of AU Bare3:1.Ifz < P(B) < y,then the ordered pair (x,y) is

A (5/12,3/4)

B.(2/3,3/4)


https://dl.doubtnut.com/l/_NbCpTghxkK1k
https://dl.doubtnut.com/l/_mi6dUcQyjmDZ
https://dl.doubtnut.com/l/_xniFbnCtwTlc

C.(1/3,3/4)

D. none of these

Answer: A

o Watch Video Solution

63. about to only mathematics

19
A-p+m+c:2—0
B.p+m+c:2—7

20

1
Ciczl—o

1
D:l:C:Z

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_xniFbnCtwTlc
https://dl.doubtnut.com/l/_mtwx2x6yVR63

1 - = 1
64.1f P(AN B) = 3, P(ANB) = 5 and 2P(A)=P(B)=p, then the value

of p is equal to

Wl = W o=

Answer: B

o Watch Video Solution

1-3 1+ 4 1+
65. If ( 5 p)’ ( 3 p)’ ( 6p) are the probabilities of three

mutually excusing and exhaustive events, then the set of all values of p is

a.(0,1) b. (-1/4,1/3) c.(0,1/3) d.

A.(0,1)

B.[—1/4,1/3]


https://dl.doubtnut.com/l/_Jbd8brAD4DJU
https://dl.doubtnut.com/l/_YgzG8mNvDOJb

C.(0,1/3)

D. (0, )

Answer: B

° Watch Video Solution

66. Events A, B, C are mutually exclusive events such that

_333—|—1 1—=x 1-—2x

P(4) = ——, P(B) = —— and P(C) =

. The set of all

possible values of x are in the interval

A.[0,1]

B.[—1/3,1/2]

C.[1/3,2/3]

D.[1/3,13/3]

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YgzG8mNvDOJb
https://dl.doubtnut.com/l/_dcbIrkaGPtyK

67. Let
0<P(A)<1,0<P(B)<1and PLAUB) =P(A) + P(B) — P(A)P
then,

A.P(A/B) = P(A) + P(B)

B. P(AU B)“ = P(A°)P(B°)

C.P(A° — B°) = P(A°)P(B°)

D.P(B/A) = P(B) — P(A)

Answer: B

o Watch Video Solution

68. For two events A and B, if P(A) = P(

o] e
~——
|
|
Q
=)

o
)
A/
| b
~——
Il
(CY

then which of the following is not true ?

A. A and B are mutually exclusive events


https://dl.doubtnut.com/l/_dcbIrkaGPtyK
https://dl.doubtnut.com/l/_aGDqcJJk83ak
https://dl.doubtnut.com/l/_D1f4WHmYgs96

B. Aand B are independent events such that P(A4 /B) = 3/4
C.Aand B are independent events such that P(A /B) = 1/2

D. Aand B are in independent events such that P(A /B) = 3 /4

Answer: B

o Watch Video Solution

1
69. If A and B are two independent events such that P(A) = 3 and

1
P(B) = 5 then which of the following is correct ?
A P(AUB) =3/5
B.P(A/B)=1/2
CP(A/JAUB)=5/6

D.P(ANB/AUB) =1/2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_D1f4WHmYgs96
https://dl.doubtnut.com/l/_HVWHMswl1H8G

70. A and B are two independent events such that

0 < P(A) < 1,0 < P(B) < 1then which of the following is not correct
?

A. A and B are mutually exclusive

B.Aand B are independent

C.A and B areindependent

D.P(A/B) + P(A/B) = 1.

Answer: A

o Watch Video Solution

71. If A and B are two independent events such that

P(ANB) =2/15 and P(ANB) = 1/6,then P(B), is

Al 4
5 T ¥


https://dl.doubtnut.com/l/_HVWHMswl1H8G
https://dl.doubtnut.com/l/_A7A6N21gyZ62
https://dl.doubtnut.com/l/_MFR5PV1d8ZDM

N

oot gk o
(@]
\.H

gl = o=k o ot

Answer: C

° Watch Video Solution

72. If A and B are two independent events such that

P(A) = - P(B) = a andP(AU B) = —— then o s
A2/T
B.5/7
C.1

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MFR5PV1d8ZDM
https://dl.doubtnut.com/l/_yuklVibhORdg

73. A and B throw a dice. The probability that A's throw is not greater

than B's, is

| = o= S|\] Sl”‘

Answer: B

o Watch Video Solution

1 - 1
74.1f P(A) = T P(B) = 3 and P(AUB) = g,then P(A/B)is


https://dl.doubtnut.com/l/_yuklVibhORdg
https://dl.doubtnut.com/l/_UKHcuvy5e0e5
https://dl.doubtnut.com/l/_3ofVqM9viWF0

Answer: C

° Watch Video Solution

75. A person draws a card from a pack of playing cards, replaces it and
shuffles the pack. He continues doing this until he draws a spade. The

chance that he will fail the first two times is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3ofVqM9viWF0
https://dl.doubtnut.com/l/_TnVxFZ3Wym55
https://dl.doubtnut.com/l/_qUehYIhvEVHg

76. Four positive integers are taken at random and are multiplied

together. Then the probability that the product ends in an odd digit than

5is

Answer: C

o Watch Video Solution

77. A fair coin is tossed repeatedly. The probability of getting a result in

fifth toss different from those obtained in the first four tosses is


https://dl.doubtnut.com/l/_qUehYIhvEVHg
https://dl.doubtnut.com/l/_mqx2GHWQQOUN

Answer: D

° Watch Video Solution

78. Cards are drawn one by one without replacement from a pack of 52

cards. The probability of the 11th card drawn is first ace,is:

o 451
" 884

B 241
" 1456

c 164
" 4165

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_mqx2GHWQQOUN
https://dl.doubtnut.com/l/_8ofBCnddCGYM
https://dl.doubtnut.com/l/_1FBpoEFMFxmY

79. A man draws a card from a pack of 52 cards and then replaces it. After
shuffling the pack, he again draws a card. This he repeats a number of

times. The probability that he will draw a heart for the first time in the

third draw is
A 9
" 64
5 27
"6
C L X . Oy
4 520,

D. none of these

Answer: A

o Watch Video Solution

80. Two numbers are selected randomly from the set S = {1, 2, 3, 4, 5, 6}
without replacement one by one. The probability that minimum of the

two numbers is less than 4is 1 /15b.14 /15¢.1/5d.4/5


https://dl.doubtnut.com/l/_1FBpoEFMFxmY
https://dl.doubtnut.com/l/_MLIiyGCAftrX

14

gl ol =

Answer: D

o Watch Video Solution

81.1t has been found that if A and B play a game 12 times, A wins 6 times,

B wins 4 times and they draw twice. A and B take part in a series of 3

games. The probability that they will win alternately is

5
2
5
36
19
27

D. none of these

Answer: B

[ -



https://dl.doubtnut.com/l/_MLIiyGCAftrX
https://dl.doubtnut.com/l/_LxqAUXW9iwPK

| @ Watch Video Solution J

82. A person draws 2 cards from a well shuffled pack of cards, the cards
are replaced after noting their colour. Then another person draws 2 cards
after shuffling the pack. The probability that there will be exactly 1

common card is

A 25
" 546

50
" 663

25
" 663

D. none of these

Answer: B

° Watch Video Solution

8. All the spades are taken out from a pack of cards. Fro these cards,

cards are drawn one by one without replacement till the ace of spades


https://dl.doubtnut.com/l/_LxqAUXW9iwPK
https://dl.doubtnut.com/l/_1JmpI81mt9yM
https://dl.doubtnut.com/l/_6M09HuyqL0A4

comes. The probability that the ace comes in the 4th draw, is

D. none of these

Answer: A

o Watch Video Solution

84. A and B are two

P(AUB) = —, P(A) = %,P(ZHB) -

| = 00|t Co|lWwWw =
| | @ 5o

events

such

that


https://dl.doubtnut.com/l/_6M09HuyqL0A4
https://dl.doubtnut.com/l/_X9Pe7xjKhvGI

Answer: A

° Watch Video Solution

85. A problem in mathematics is given to three students A, B, C' and
their respective probability of solving the problem is 1/2, 1/3 and 1/4.

Probability that the problemis solved is 3/4b.1/2¢c.2/3d.1/3

Wl W N = ]| w

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_X9Pe7xjKhvGI
https://dl.doubtnut.com/l/_cbKeKdYHQvgf

86. A bag contains 5 apples and 7 oranges and another basket contains 4
apples and 8 oranges. One fruit is picked out from each basket. Find the

probability that the fruits are both apples or both oranges.

24
144

56
© 144

68
T 144

o 16
" 144

Answer: C

o Watch Video Solution

87. The probability of happening of an event A is 0.5 and that of B is 0.3. If
A and B are mutually exclusive events, then the probability of neither A

nor B is.....

A.0.6


https://dl.doubtnut.com/l/_VFn2sqhU0NBc
https://dl.doubtnut.com/l/_3liAcNfrBuyi

B.0.5

C.0.7

D. none of these

Answer: D

° Watch Video Solution

88. If P(B)=%,P(AHBC_*) ~ 1 and P(ANBNO) _1

3 3 then

P(ANC)is equal to

1
A.E
1
B.E

1

N

O
O|= =

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3liAcNfrBuyi
https://dl.doubtnut.com/l/_NNKUXZtP1eix

89. Five horses are in a race. Mr. A selects two of the horses at random

and bets on them. The probability that Mr. A selected the winning horse

is

= ofw o o

Answer: A

o Watch Video Solution

90.The probability that A speaks truth is %, while this probability for B

3
is T The probability that they contradict each other when asked to speak

onafactis


https://dl.doubtnut.com/l/_NNKUXZtP1eix
https://dl.doubtnut.com/l/_RScBuxKmVkVL
https://dl.doubtnut.com/l/_F8Zp8U9ZO7HZ

4
5
1
5
s
20
3

2

(e}

Answer: C

o Watch Video Solution

91. The probability that in a year of 22nd century chosen at random, There

will be 53 Sunday, is



https://dl.doubtnut.com/l/_F8Zp8U9ZO7HZ
https://dl.doubtnut.com/l/_gHAmhWoW3iRO

| ° Watch Video Solution J

: A 1 B 1
92. For two events A and B, if P(A) = P(§> =7 and P(Z) =5

then which of the following is not true ?

A. A and B are independent events

B.P(A’/B) =

| = ] w

C.P(B'/A) =

D. all of the above

Answer: D

o Watch Video Solution

93. A fair die is rolled. The probability that the first time 1 occurs at the

even throw, is :


https://dl.doubtnut.com/l/_gHAmhWoW3iRO
https://dl.doubtnut.com/l/_uXg6TYYexeFR
https://dl.doubtnut.com/l/_MEBRp6OYjVIZ

Answer: B

o Watch Video Solution

94. There are n urns each containing (n+1) balls such that the it" urn
contains ' I' white balls and (n+1-i) red balls. Let U; be the event of
selecting ith urn, i=1,2,3,., n and W denotes the event of getting a white

ball. If P(U;) « i, where i=1,23,.,n,then lim P(W) is equal to

n— oo

Al

N N U


https://dl.doubtnut.com/l/_MEBRp6OYjVIZ
https://dl.doubtnut.com/l/_admudHuzAbpE

Answer: B

° Watch Video Solution

95.In Example 94, if P(U;) = C, where C is a constant, then P(U,, /W) is

equal to

[N}

S
=+
—

3
S +
|

o= 3
_|_
—t

Answer: A

° Watch Video Solution

96. In Example 94, if n is even and E denotes the event of choosing even

1 :
numbered urn (p(Uz) = E),then the value of P(W / E), is


https://dl.doubtnut.com/l/_admudHuzAbpE
https://dl.doubtnut.com/l/_LKtrieXGSzrw
https://dl.doubtnut.com/l/_7WNYa0Tp7Eqr

Answer: B

o Watch Video Solution

97. Indian and four American men and their wives are to be seated
randomly around a circular table. Then, the conditional probability that
the Indian man is seated adjacent to this wife given that each American

man is seated adjacent to his wifeis 1/2b.1/3¢c.2/5d.1/5

U= U W= N =


https://dl.doubtnut.com/l/_7WNYa0Tp7Eqr
https://dl.doubtnut.com/l/_qMuUPoPwbI7p

Answer: C

° Watch Video Solution

98. An experiment has 10 equally likely outcomes. Let A and B be two non-
empty events of the experiment. If A consists of 4 outcomes, the number
of outcomes that B must have so that A and B are independent, is

A.240r8

B.3,6,0r9

C.40r8

D.5or 10.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_qMuUPoPwbI7p
https://dl.doubtnut.com/l/_9NvKpqXEE5kv

99. A fair die is tossed repeatedly until a 6 is obtained. Let X denote the
number of tosses rerquired.

The probability that X = 3 equals

A 25
" 216

8 25
" 36

C5
" 36

b 125
216

Answer: A

o Watch Video Solution

100. In Example 99, the probability that X > 3 equals

A 125
" 216


https://dl.doubtnut.com/l/_fEZgyDCgOJHY
https://dl.doubtnut.com/l/_cE5SPEiUaCG7

b 25
" 216

Answer: B

° Watch Video Solution

101. In Example 99, the conditional probability that X > 6 given X > 3

equals

125
" 216
25
" 216

C5
" 36

b 25
(i

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cE5SPEiUaCG7
https://dl.doubtnut.com/l/_GsBCvIyoikAz

102. If A and B are mutually exclusive events with
P(B) #1, then P(A/B)=
1
P(B)
1
1— P(B)
P(A)
P(B)
P(A)
"1- P(B)
Answer: D
o Watch Video Solution
103. Let E° denote the complement of an event Let

E, F and Gbepairwise € dependenteventswithP(G)gt O and P(E cap F

cap G)=0, thenP(E"c cap F “c//G), is

A.P(E’) + P(F’)

B.P(E’) — P(F")


https://dl.doubtnut.com/l/_OXLflkAjWMuJ
https://dl.doubtnut.com/l/_zyE8RgaZv2aE

Answer: C

° Watch Video Solution

2 1
104. A single which can can be green or red with probability 3 and 5

respectively, is received by station A and then transmitted to station B.
The probability of each station reciving the signal correctly is T If the

singal received at station B is green, then the probability that original

singal was green is

A3
5
8.0
7
20
C 35

9
D.2—0

Answer: C


https://dl.doubtnut.com/l/_zyE8RgaZv2aE
https://dl.doubtnut.com/l/_Wr3l7M723Jz5

° Watch Video Solution

105. An unbiased die is rolled untill two consecutive trials result in even

numbered faces. The probability that exactly six trials are required to get

consecutive even numbered faces, is

o)
0

Answer: A

° Watch Video Solution

106. An urn contains nine balls of which three are red, four are blue and
two are green. Three balls are drawn at random without replacement

from the urn. The probability that the three balls have different colour is



https://dl.doubtnut.com/l/_Wr3l7M723Jz5
https://dl.doubtnut.com/l/_RPMVbWY1uO7x
https://dl.doubtnut.com/l/_UEr5ub24bRi0

A1/2
B.2/23
c.1/3

D.2/7

Answer: D

o Watch Video Solution

107. Let E and F be two independent events. The probability that exactly
one of them occurs is % and the probability if none of them occurring is

2
—. If P(T) denotes the probability of occurrence of the event T', then

25
4 3 1 2
@ P(E)=%,P(F)=¢ () PE=¢PF=¢ (©
2 3 4
P(E) = -, P(F) = < (d) P(B) = —, P(F) =

w
N
—~
&
N—"
I
o o = oo
N
—~
|
N—
Il
Ul = o N ol w


https://dl.doubtnut.com/l/_UEr5ub24bRi0
https://dl.doubtnut.com/l/_EAjD9fnsweZR

Answer: A

o Watch Video Solution

108. Let U; and U, be two urns such that U; contains 3 white and 2 red
balls, and U, contains only 1 white ball. A fair coin is tossed. If head
appears, than 1 ball is drawn at random for Us; and put into Us,
However, if tail appears, then 2 balls are drawn at random from U; and
put into U;. Now 1 ball is drawn at random from U,

The probability of the drawn ball from U, being white is

A 13
30

8 23
30

c 19
30

11

D. —
30

Answer: D



https://dl.doubtnut.com/l/_EAjD9fnsweZR
https://dl.doubtnut.com/l/_lCwPP2Ry877k

o Watch Video Solution

109. In the above example, given that the ball drawn from U; is white, the

probability that head appeared on the coin is

L1
" 23

B 11
- 23

c 15
23

b 12
- 23

Answer: D

o Watch Video Solution

110. If C and D are two events such that C C DandP(D) # 0, then the
correct statement among the following is : (1) P(C | D) = P(C) (2)
P(C | D) > P(C) 3) P(C | D) < P(C) (4)

P(C | D) = P(D)/(P(C)


https://dl.doubtnut.com/l/_lCwPP2Ry877k
https://dl.doubtnut.com/l/_qBmnfzbNeT0A
https://dl.doubtnut.com/l/_biVDFgWkbNr1

A.P(C/D) = P(C)
B.P(C/D) > P(C)
C.P(C/D) < P(C)

P(D)

D.P(C/D) = m

Answer: D

o Watch Video Solution

M. Let AB and C are pairwise

P(C) >0 and PLANBNC) = O.Then,P<

A P(A°) + P(B)
B. P(A°) — P(B°)
C. P(A%) — P(B)

D. P(A) — P(B°)

Answer: C

independent

C

(A° N BY)

events

IS

with


https://dl.doubtnut.com/l/_biVDFgWkbNr1
https://dl.doubtnut.com/l/_JoI4BJHtMtvw

° Watch Video Solution

12. Four fair dice , D1 D5, D3 and D, each having six faces numbered
1,2,3,4,5 and 6 are rolled simultaneously. The probability that D, shows a

number appearing on one of Dy, Dy and Dj is

A 91
" 216

;. 108
" 216

125
" 216

b 127
216

Answer: A

o Watch Video Solution

113. A ship is fitted with three engines E;, E; and E3. The engines

function independently of each other with respective probabilities

1 1

DXV and 1 For the ship to be operational at least two of its engines


https://dl.doubtnut.com/l/_JoI4BJHtMtvw
https://dl.doubtnut.com/l/_G3hvkuEgyK6h
https://dl.doubtnut.com/l/_cvuhxDXHnRfN

must function. Let X denote the event that the ship is operational and

let X7, Xy and X3 denote, respectively, the events that the engines

E,, E; and E3 are function. Which of the following is/are true? (a)

P(ch|X) = % (b) P(exactly two engines of the ship are functioning | X
7

7 5
) = 5 (O P(X|Xy) = ¢ () P(X| X)) =

AP(X;/X) =+

B. P [ Exactly two engines of the ship are functioning X] = 3

CP(X/X,) = —

16
D.P(X/X;) =
Answer: C

o Watch Video Solution

1M4. Let X any Y be two events,  such that
1 1 1
P(X/)Y) = 3 PY/X) = 3 and P(XNY) = 5 Which of the

following is (are) correct ?


https://dl.doubtnut.com/l/_cvuhxDXHnRfN
https://dl.doubtnut.com/l/_MxIHL1dvBZ41

2
AP(XUY) = 3
B.X and Y are independent
1
C.P(X°NY) = B

D.X and Y are not independent

Answer: D

o Watch Video Solution

115. The probability that randomly selected calculator from a store is of

brand r is proportional to r, r=1,2,.,6. Further, the probability of a calucltor

of brand r being defective is r ,7=1,2,..,6. Then the probability

that a calculator randomly selected from the store being defective is


https://dl.doubtnut.com/l/_MxIHL1dvBZ41
https://dl.doubtnut.com/l/_ljPBoamRvVGE

Answer: A

° Watch Video Solution

116. Four person independently solve a certain problem correctly with

1 3 1
probabilities — —. Then the probability that he problem is solve

2'4°4° 8
235 21 3 253

correctly by at least one of them is 556 b. 556 © 956 d. 556

235
© 256
21
© 256
3
" 256

253

D. —
256

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ljPBoamRvVGE
https://dl.doubtnut.com/l/_ty8vw4fIgqM6

17. If 1 ball is drawn from each of the boxes B;, By and Bs, then the

probability that all 3 drawn balls are of the same colour , is

82

A 618
90

1648
558

1648

566

D.%

Answer: A

o Watch Video Solution

118. If 1 ball is drawn from each of the boxes By, By and Bs, then the

probability that all 3 drawn balls are of the same colour , is

A 116
181

B 126
© 181

c 65
T 181


https://dl.doubtnut.com/l/_JggQYMtbCLbR
https://dl.doubtnut.com/l/_ivU9BDvNkjNL

b 55
1181

Answer: D

o Watch Video Solution

119. Of the three independent events E;, E,, and Ej3, the probability
that only E; occurs is a only E5 occurs is 8, and only E3 occurs is 7. Let
the probability p that none of events E;, E5, or Ej5 occurs satisfy the
equations (a —2B)p=af and (B —3y)p= By. Al the given

probabilities are assumed to lie in the interval (0, 1). Then

Probability of occurrence of £

Probability of occurence of 3

A3

B.2

C.6

D.4

Answer: C


https://dl.doubtnut.com/l/_ivU9BDvNkjNL
https://dl.doubtnut.com/l/_frBpnGzdcrEJ

° Watch Video Solution

120. A biased coin with probability p,0 < p < 1 of heads is tossed until a
head appears for the first time. If the probability that the number of
tosses required is even is 2/5, then p equals

A2/3

B.1/2

Cc.1/3

D.1/4

Answer: C

o Watch Video Solution

121. about to only mathematics

A7


https://dl.doubtnut.com/l/_frBpnGzdcrEJ
https://dl.doubtnut.com/l/_pTWlX3fLi5RS
https://dl.doubtnut.com/l/_JbDETGZQIsay

B.9

C.8

D.5

Answer: C

o Watch Video Solution

122. Let n; and ny be the number of red and black balls, respectively, in
box I. Let n3 and n4 be the numbers of red and black balls, respectively,
in the box Il.

A ball is drawn at random from box | and transferred to box Il. If the
probability of drawing a red ball from box I, after this transfer, is 1/3, then

the correct options (s) with the possible values of n; and ns is (are)

Ang =3,ny=3n3 =5mn4 =15

B. 14 :3,112 :6,n3 = 10,”4 = 50

Cny =8 ny =6,n3 =95n4 =20


https://dl.doubtnut.com/l/_JbDETGZQIsay
https://dl.doubtnut.com/l/_e9Q9r4oywY1n

D.ny :6,n2 = 12,’713 :5,n4 =20

Answer: A::B

o Watch Video Solution

123. Let n; and ny be the number of red and black balls, respectively, in
box I. Let ng and n4 be the numbers of red and black balls, respectively,
in the box Il.

A ball is drawn at random from box | and transferred to box Il. If the
probability of drawing a red ball from box I, after this transfer, is 1/3, then

the correct options (s) with the possible values of n; and ns is (are)

A ny :4,n2 =6

B.ny =2,ny =3

C. ny = 10, N9 — 20

D.ny :3,112 =6

Answer: C::D


https://dl.doubtnut.com/l/_e9Q9r4oywY1n
https://dl.doubtnut.com/l/_hO37OfUR2dtN

o Watch Video Solution

124. Football teams T} and 75 have to play two games against each

other. It is assumed that the outcomes of the two games are

independent. The probabilities of T} winning. Drawing and losing a game
_ 11 1 ) .

against Ty are 3% and 3 respectively. Each team gets 3 points for a

win. 1 point for a draw and 10 pont for a loss in a game.

Let X and Y denote the total points scored by teams 7T} and 75

respectively. after two games.

now >

o
— N = = |
Sl Nl gle =

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hO37OfUR2dtN
https://dl.doubtnut.com/l/_XNkEPhPWGXX1
https://dl.doubtnut.com/l/_IsUhm2E280AP

125. In Example 124, P(X=Y), is

Answer: C

o Watch Video Solution

126. A computer producing factory has only two plants 77 and T5. Plant
T, produces 20 % and plant T, produces 80 % of the total computers
produced in the factory turn out to be defective. It is known that P
(computer turns out to be defective givent that it is produced in plant
T7) =10 P ( computer turns out to be defective given that it is produced
in plant Ty), where P (E) denotes the probability of an event E. A

computer produced in the factory is randomly selected and it does not


https://dl.doubtnut.com/l/_IsUhm2E280AP
https://dl.doubtnut.com/l/_qwZpiXBL3hXC

turn out to be defective. Then the probability that it is produced in plant

T2 is

36
73
47
79

78
93

75
83

Answer: C

° Watch Video Solution

Section- Il (Assertion -Reason Types MCQs)

1. Statement-1: 20 persons are sitting in a row. Two of these persons are
selected at random. The probability that the two selected persons are not
together is 0.9.

Statement-2 :If A denotes the negation of an event A, then

P(A) =1- P(A).


https://dl.doubtnut.com/l/_qwZpiXBL3hXC
https://dl.doubtnut.com/l/_JkfVWfHHIizP

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

o Watch Video Solution

2. Statement-1: A natural x is chosen at random from the first 100 natural

numbers. The probability that

(z — 10)(z — 50)
z — 30
Statement-2 : For anyevent 4,0 < P(A) < 1.

< 0is 0.28

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.


https://dl.doubtnut.com/l/_JkfVWfHHIizP
https://dl.doubtnut.com/l/_As3DkVJwt326

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

o Watch Video Solution

3. Statement 1: The probability of drawing either an ace or a king from a
pack of card in a single draw is 2/13. Statement 2: for two events AandB

which are not mutually exclusive,
P(AUB) = P(A) + P(B) — P(AnN B).
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.


https://dl.doubtnut.com/l/_As3DkVJwt326
https://dl.doubtnut.com/l/_CIEDUIgyEHrK

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

° Watch Video Solution

4.Let A and B be two events such that P(A U B) = P(A N B).Then,
Statement-1: P(ANB) = P(ANB) =0
Statement-2: 'P(A)+P(B)=1
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.
C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.


https://dl.doubtnut.com/l/_CIEDUIgyEHrK
https://dl.doubtnut.com/l/_n12KU2hOEO31

Answer: C

o Watch Video Solution

5. Statement-1: If A and B are two events such that P(A)=1, then A and B
are independent.

Statement-2: A and B are two independent events iff
P(AN B) = P(A)P(B)
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.
C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_n12KU2hOEO31
https://dl.doubtnut.com/l/_vEkszkmZCauu

6. Let A, B, C be three mutually independent events. Consider the two
statements S; and S,.
S1: A and B U C are independent
Sy: Aand B N C are independent. Then,
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vEkszkmZCauu
https://dl.doubtnut.com/l/_wxyAFOcXCdDt

7. Statement-1: Let n < 3 and A;, A,, .., A, be n independent events

1
such that P(A4;) = —— for 1 < k < n,then
k+1
— 1
P(A{NAsNA ..NA,) =
(A1n4,NAsn.. N4y) = ——

Statement-2: Let A, Ay, A3,.., A, be n( < 3) events associated to a

random experiment . Then, A, Ay,.., A, are independent iff
P(AiNnAyn..NA, =P(A)P(A4,)..P(A,).
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.
C. Statement-1is True, Statement-2 is False.

D. Statement-1is False, Statement-2 is True.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YS1ARtLTmqVc
https://dl.doubtnut.com/l/_MKUE5MpRPnEE

8. Let A, B and C be three events such that P(C )=0
Statement-: P(ANBNC) =0
Statement-2: P(AU BUC) = P(AU B)
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.
C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

o Watch Video Solution

9. There are two persons A and B such that the chances of B speaking
truth of A and A speaks truth in more than 25% cases.

Statement-1: If A and B contradict each other in narrating the same


https://dl.doubtnut.com/l/_MKUE5MpRPnEE
https://dl.doubtnut.com/l/_GU2RzINKMUaI

statement with probability 1 /2, then it is certain that B never tells a lie.
Statement-2: The probability that A speaks truth is 1 /2.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.
C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

o Watch Video Solution

10. A fair die is thrown twice. Let (a, b) denote the outcome in which the
first throw shows 'a' and the second throw shows 'b' . Let A and B be the
following events :

A={(a,b): a is even}, B={(a,b): b is even}


https://dl.doubtnut.com/l/_GU2RzINKMUaI
https://dl.doubtnut.com/l/_qHMC4MmeBcLQ

Statement-1: If C={(a,b): a+b is odd}, then

1
P(ANnBNC) = 3

Statement-2: If D={(a,b): a+b is even}, then

P(ANnBND/AUB) = %

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

° Watch Video Solution

11. Consider the system of linear equation ax+by=0, cx+dy=0, a, b, ¢, d €

{0, 1}


https://dl.doubtnut.com/l/_qHMC4MmeBcLQ
https://dl.doubtnut.com/l/_fJ7x0Zy2Skm7

Statement-1: The probability that the system of equations has a unique
solution is 3
Statement-2 : The probability that the system has a solution is 1.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.
C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

o Watch Video Solution

12. Let Hy{,H,,.........H, be mutually exculusive events with

P(H;) > 0,% = 1, 2,....,n. Let E be any other event with 0 < P€ < 1.


https://dl.doubtnut.com/l/_fJ7x0Zy2Skm7
https://dl.doubtnut.com/l/_Jxf0JjdD2R1r

Statement -1 P(H; /E) > P(E/H;)P(H;),fori =1,2.....,n.

Statement -2 Z P(H;) =1
—1

i=

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

o Watch Video Solution

13. Four numbers are chosen at random (without replacement) from the

set {1, 2, 3, ..., 20}. Statement-1: The probability that the chosen numbers
. . 1

when arranged in some order will form an AP Is 5 . Statement-2: If the

four chosen numbers form an AP, then the set of all possible values of


https://dl.doubtnut.com/l/_Jxf0JjdD2R1r
https://dl.doubtnut.com/l/_cF6lOE86b1dh

common difference is {1, 2, 3, 4, 5}. (1) Statement-1 is true, Statement-2 is
true; Statement-2 is not the correct explanation for Statement-1 (2)
Statement-1 is true, Statement-2 is false (3) Statement-1 is false,
Statement-2 is true (4) Statement-1 is true, Statement-2 is true;
Statement-2 is the correct explanation for Statement-1
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cF6lOE86b1dh

14.WﬁﬂqWﬁA3ﬁ?BWWW®WWﬁﬁQ®WWQF%

1 . . .
MR 3 g1 Ife G WdT T T AT & T BT TN B &1 dl WIfAesdl oi1d
$ifaiv fos
(i) TH=T & 81 STTeht &
(i) 379 F AT HIS Vb AT & B AdT &l
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1is False, Statement-2 is True.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_RJ33rXm1vGzG

15. Let AandB b e two independent events. Statement 1. If
(A) = 0.3andP(AU E) = 0.8,thenP(B) is 2/7. Statement 2
P(E) = 1— P(E), whereE is any event.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.
C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

o Watch Video Solution

Section | - Mcgs


https://dl.doubtnut.com/l/_DE2qIBgPyVrh

1. If A and B are two independent events, then the probability that only

one of A and B occur is

A.P(A) + P(B) — 2P(A N B)

B.P(A) + P(B) — P(AN B)

C. P(A) + P(B)

D. none of these

Answer: A

o Watch Video Solution

2.1f A and B are two events, then P (neither A nor B) equals

A.1— P(AUB)
8. P(4) + P(B)
C.1- P(A) — P(B)

D. none of these


https://dl.doubtnut.com/l/_3BYDgcTWvzEO
https://dl.doubtnut.com/l/_YJyCj9yyPqsW

Answer: A

° Watch Video Solution

3. A drawer contains 5 brown socks and 4 blue socks well mixed a man
reaches the drawer and pulls out socks at random. What is the
probability that they match? 4/9b.5/8¢c.5/9d.7/12

A4/9

B.5/8

C.5/9

D.7/12

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_YJyCj9yyPqsW
https://dl.doubtnut.com/l/_KJXqqBKa1oDB

4.I1f M and N are any two events, the probability that atleast one of them
occurs is

A.P(A) + P(B) + 2P(A N B)

B.P(A) + P(B) — P(AN B)

C.P(A) + P(B) + P(ANB)

D.P(ANB) + P(ANB)

Answer: D

o Watch Video Solution

5.The probability that at least one of the events A and B occurs is 0.6. If A

and B occur simultaneously with probability 0.2, then find P(Z) + P(E)

A.04

B.0.8


https://dl.doubtnut.com/l/_lVNjomLFGHcT
https://dl.doubtnut.com/l/_IFpP0KQaxLTU

C.12

D.14

Answer: C

° Watch Video Solution

6. three identical dice are rolled . Find the probability that the same

number will appear on each of them .

Al/6

B.1/36

C.1/18

D.3/28

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IFpP0KQaxLTU
https://dl.doubtnut.com/l/_U8wCCU3dU8Bi
https://dl.doubtnut.com/l/_5B7RptYQpncd

7. Let A and B be two independent events. The probability of their
simultaneous occurrence is 1/8 and the probability that neither occurs is

3/8.Find P(A)andP(B).

Al l
"2’ 4
gL 1
34
1l
4’4
pl 1
572
Answer: A

o Watch Video Solution

8.E and F are two independent events. The probability that both e and F
happen is 1/12 and the probability that neither E nor F happens is 1/2.

Then


https://dl.doubtnut.com/l/_5B7RptYQpncd
https://dl.doubtnut.com/l/_kPoeIYDWq3Ey

1 1

B.P(E) = 3, P(F) = ¢

1 1

C.P(B) = 2, P(F) = 5

1 2

D.P(E) = 4, P(F) = 3
Answer: A

o Watch Video Solution

9. If m rupees coins and n ten paise coins are placed in a line, then the
probability that the extreme coins are ten paise coins is (Assume coins of

same type are identical)

A..(m+n)C,

5 n(n + 1)
“(mA4n)(m+n—1)

c.mtnp.

D..m " P,

Answer: B

[ - 1


https://dl.doubtnut.com/l/_kPoeIYDWq3Ey
https://dl.doubtnut.com/l/_sx4IxQccOSh4

| @J Watch Video Solution

10.If A and B are two events such that P(A) = 3/4 and P(B) = 5/8, then

3
A P(AUB) > 7
1
B.P(A'NB) < 1

3 5

— < < —

C 1S P(ANB) < 3

D. all of these

Answer: A

° Watch Video Solution

1. If there are 6 girls and 5 boys who sit in a row, then the probability

that no two boys sit together is :

66!
A

211!

715!

" 2111!



https://dl.doubtnut.com/l/_sx4IxQccOSh4
https://dl.doubtnut.com/l/_ASJu3P3O33II
https://dl.doubtnut.com/l/_pLu2UVe2LzvB

6!7!
C.
211!

D. none of these

Answer: C

° Watch Video Solution

12. One mapping is selected at random from all the mappings of the set

A = {1,2,3..n} into itself. The probability that eh mapping selected is

) 1 1 (n—1)!
onetooneisa.— b. — c. ———

d. none of these
n" n! nn—1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_pLu2UVe2LzvB
https://dl.doubtnut.com/l/_c9Xqzxw1DPOl

13. Let A and B be two finite sets having m and n elements respectively
such that m < n . A mapping selected at random from the set of all

mappings from A to B. The probability that the mapping selected is an

injection is :
n!
A
(n — m)!mn
n!
B.
(n — m)!In™
m!
C.
(n —m)!n™
m!
D.
(n — m)!mn
Answer: B

o Watch Video Solution

14. Two dices are roled one after the other. The probability that the

number on the first is smaler than the number on the second is

A1/2


https://dl.doubtnut.com/l/_c9Xqzxw1DPOl
https://dl.doubtnut.com/l/_1I40jjr6Gphk
https://dl.doubtnut.com/l/_Bt4Ez5D9uNjI

B.7/18
c.3/4

D.5/12

Answer: D

° Watch Video Solution

15. A natural number is chosen at random from the first 100 natural

100
numbers. The probability that x + — > 50is

A1/10
B.11/50
C.11/20

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Bt4Ez5D9uNjI
https://dl.doubtnut.com/l/_WIRfdmLgZGHE

16. A binary operation is chosen at random from the set of all binary
operations on a set A containing n elements. The probability that the

binary operation is commutative, is

nn
nn/2

n"

nn/2

nn2/2

D. none of these

Answer: C

o Watch Video Solution

17. A four figure number is formed of the figures 1, 2, 3, 4, 5 with no
repetitions. The probability that the number is divisible by 5is 3/4b.1/4

c.1/8d.none of these


https://dl.doubtnut.com/l/_WIRfdmLgZGHE
https://dl.doubtnut.com/l/_F3ehyXq0TnoP
https://dl.doubtnut.com/l/_1gMmEl2f029R

A.3/4
B.1/4
c.1/8

D. none of these

Answer: B

o Watch Video Solution

18. Suppose n( > 3) persons are sitting in a row. Two of them are

selected at random. The probability that they are not together is (A)

2 1
1 - —(B) (C) 1 — — (D) nonoe of these
n n—1 n
2
Al— —
n
8 2
‘n—1
1
Cl——
n

D. none of these


https://dl.doubtnut.com/l/_1gMmEl2f029R
https://dl.doubtnut.com/l/_kr4g33owlaX5

Answer: A

° Watch Video Solution

19. India play two matches each with West Indies and Australia. In any
match the probabilities of India getting 0,1 and 2 points are 0.45, 0.05 and
0.50 respectively. Assuming that the outcomes are independent, the
probability of India getting at least 7 points is 0. 0875 b.1/16 c. 0. 1125 d.
none of these

A.0.8750

B.0.0875

C.0.0625

D. 0.0250

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kr4g33owlaX5
https://dl.doubtnut.com/l/_UcgkhCRroERI
https://dl.doubtnut.com/l/_vc6W3k3LEK8V

20. In shuffling a pack of 52 playing cards, four are accidently dropped;

find the chance that the missing cards should be one from each suit.

1
A %
1
270725

2197

" 20825

B.

D. none of these

Answer: C

° Watch Video Solution

21. If A and B are independent events such that P(A) > 0, P(B) > 0,
then

A. A and B are mutually exclusive

B.Aand B are dependent

C. A and B are dependent


https://dl.doubtnut.com/l/_vc6W3k3LEK8V
https://dl.doubtnut.com/l/_XzwQH74Dqb66

D.P(A/B) + P(A/B) = 1.

Answer: D

° Watch Video Solution

22. If A and B are independent events such that P(A4) > 0, P(B) > 0,
then

A. A and B are mutually exclusive

B.Aand B are independent

C.A(AuB) = P(A)P(B)

D.P(A/B) = P(A/B)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XzwQH74Dqb66
https://dl.doubtnut.com/l/_Ex9vdHN8S4N5

23. Twelve balls are distributed among three boxes, find the probability

that the first box will contains three balls.

110 / 2\
A—(Z
9 \3

12 03 29
123
5 .12 C3
) 312
Answer: A

o Watch Video Solution

24. A committee of five is to be chosen from a group of 9 people. The

probability that a certain married couple will either serve together or not

at all is

A1/2

B.5/9


https://dl.doubtnut.com/l/_yXnmKvkmkhtE
https://dl.doubtnut.com/l/_IUM9WKZKny3H

Cc.4/9

D.2/3

Answer: C

° Watch Video Solution

25. The probability of two events A and B are 0.25 and 0.50 respectively.

The probability of their simultaneous

probability that neither A nor B occurs.

A. 0.39

B.0.25

c.on

D. none of these

Answer: A

occurrences 0.15. Find the

° Watch Video Solution



https://dl.doubtnut.com/l/_IUM9WKZKny3H
https://dl.doubtnut.com/l/_X6hUDmgr81cx

26. about to only mathematics

A.25/77
B.52 /77
c.12/77

D.65/77

Answer: B

o Watch Video Solution

27. A bag contains four tickets marked with numbers 112, 121, 211, and
222. One ticket is drawn at random from the bag. Let E;(i = 1,2, 3)
denote the event that ith digit on the ticket is 2. Then

A.E, and E, are independent

B. B, and Ej are independent



https://dl.doubtnut.com/l/_X6hUDmgr81cx
https://dl.doubtnut.com/l/_ADwMxZZsR7vz
https://dl.doubtnut.com/l/_iTU9bViDPqwN

C.E; and F; are independent

D.E;, E; and FEj areindependent

Answer: D

o Watch Video Solution

28. A box contains 2 balck, 4 white, and 3 balls. One ball is drawn at
random from the box and kept aside to first. This process is repeated till
all the balls are drawn from the box. The probability that the balls drwn

are in the sequences of 2 black, 4 white and 3 red is

1
" 1260

1
" 7560

1
© 126

D. none of these

Answer: A



https://dl.doubtnut.com/l/_iTU9bViDPqwN
https://dl.doubtnut.com/l/_ZvHZmniX3KEp

l @ yvatch video Solution ]

29. A student appears for tests I, Il and Ill. The student is considered
successful if he passes in tests I, Il or Ill or all the three. The probabilities
of the Student passing in tests Il and Il are m, n and % respectively. If
the probability of the student to be successful is l, then which one of

2
the following is correct? (@) m(1+n) =1B)n(l+m) =1(C)m =1

(D)mn =1
A. p=g=1
B g 1
'p - q - 2
C.p=0, g=1

D. there are infinite values of p and q

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZvHZmniX3KEp
https://dl.doubtnut.com/l/_RtMADcZbswq6

30. A cricket club has 15 members, of them of whom only 5 can bowl. If the
names of 15 members are put into a box and 11 are drawn at random,
then the probability of getting an eleven containing at least 3 bowlers is
7/13b.6/13¢c.11/158d.12/13

A7/13

B.6/13

c.11/15

D.12/13

Answer: D

o Watch Video Solution

1+3p 1—-p 1—2p
nd

31.
If 3 1

are the probabilities of three mutually

exclusive events, then find the set of all values of p.

A <<1
._p_2

1
3


https://dl.doubtnut.com/l/_96EjJEpqEkGv
https://dl.doubtnut.com/l/_56xTucezp5zq

o= =
VAN AN
= =3
VAN VAN
N~ Wl

D. none of these

Answer: D

o Watch Video Solution

32. An unbiased die with faced marked 1, 2, 3, 4, 5, and 6 is rolled four
times. Out of four face value obtained, the probability that the minimum

face value is not less than 2 and the maximum face value is not greater

than five is then 16 /81 b.1/81¢.80/81d.65/81

A.16/81
B.1/81
C.80/81

D. 65 /81


https://dl.doubtnut.com/l/_56xTucezp5zq
https://dl.doubtnut.com/l/_Lz8nkoaoCoDe

Answer: A

° Watch Video Solution

33.Three numbers are chosen from 1 to 30. The probability that they are

not consecutive is

o lu
" 145

, 143
145

o L2
145

D. none of these

Answer: A

° Watch Video Solution

34.The probability that an event A happens in one trial of an experiment,

is 0.4. Three independent trials of the experiments are performed. The


https://dl.doubtnut.com/l/_Lz8nkoaoCoDe
https://dl.doubtnut.com/l/_fl4Ca6WvXtjE
https://dl.doubtnut.com/l/_YJ5xjfeaEyLe

probability that the event A happens atleast once, is :

A. 0.936

B. 0.784

C.0.904

D. none of these

Answer: B

o Watch Video Solution

35.1f two A and B such that P(A) > 0 and P(B) # 1,then P(A/B) is

equal to:

Al1—P(A/B)

B.1 - P(A/B)

c 1—-P(ANB)
- P(B)

D.P——

P(B)


https://dl.doubtnut.com/l/_YJ5xjfeaEyLe
https://dl.doubtnut.com/l/_2MF4j5X9N54K

Answer: A

° Watch Video Solution

36. A speks truth in 60 % cases and B speaks truth in 70 % cases. The
probability that they will say the same thing while describing a single
event is

A.0.56

B. 0.54

C.0.38

D.0.94

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2MF4j5X9N54K
https://dl.doubtnut.com/l/_1RaMTiui1w74

37. Let X be a set containing n elements. Two subsets A and B of X are

chosen at random. Find the probability that "AcupB=X

2n
A L

2271

B AN
"\ 4

1
C. e,

D. none of these

Answer: B

o Watch Video Solution

38. about to only mathematics

(2
(3


https://dl.doubtnut.com/l/_auW6pbRijaOF
https://dl.doubtnut.com/l/_5pxhPppl8OKc

D. none of these

Answer: D

° Watch Video Solution

1 1
39. If P(ANB) = 2 P(ANB) = E’P(A) = p, P(B) = 2p, then
find the value of p.
Al/3
B.7/18
C.4/9

D.1/2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5pxhPppl8OKc
https://dl.doubtnut.com/l/_9DHudncpuSvV

40.1f P(LAUB) = 3/4 and P(A) =2/3, then P(A N B) is equal
to

A1/12

B.7/12

C.5/12

D.1/2

Answer: C

o Watch Video Solution

41. Find the probability that in a random arrangement of the letters of
the word UNIVERSITY the two Is do not come together.

A.4/5

B.1/5

C.1/10


https://dl.doubtnut.com/l/_FdtjuUfhTtsV
https://dl.doubtnut.com/l/_ZbxysdZt1QVh

D.9/10

Answer: A

° Watch Video Solution

42. A letter is taken out at random from 'ASSISTANT and another is taken
out from 'STATISTICS. The probability that they are the same letters, is
A.1/45
B.13/90
C.19/90

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZbxysdZt1QVh
https://dl.doubtnut.com/l/_khHNzSPqlELk

43. Out of 40 consecutive integers, two are chosen at random, the

probability that their sum is odd is

A.14/29
B.20/39
c.1/2

D. none of these

Answer: B

o Watch Video Solution

44. Three integers are chosen at random from the first 20 integers. The
probability that their product is even is

A.2/19

B.3/29

C.17/19


https://dl.doubtnut.com/l/_5jX3FBN1pXLU
https://dl.doubtnut.com/l/_49jiaNa7R2iK

D.4/29

Answer: C

° Watch Video Solution

45. three identical dice are rolled . Find the probability that the same

number will appear on each of them.

Al/6
B.1/18
C.1/36

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_49jiaNa7R2iK
https://dl.doubtnut.com/l/_STbnqbNUwzmp

46. Let A, B, C be three events such that A and B are independent and

P(C) = 0,then events A, B, C are

A. A and C are independent

B.B and C are independent

C.A,B and C are independent

D. all of these

Answer: D

o Watch Video Solution

47. Two small squares on a chess board are chosen at random. Then, the
probability that they have a common side,is

A1/9

B.1/18

C.2/7


https://dl.doubtnut.com/l/_JPSvraL2g10d
https://dl.doubtnut.com/l/_m4t0hEqtEKJI

D. none of these

Answer: B

° Watch Video Solution

48. An ordinary cube has four black faces, one face marked 2 and another

marked 3. Then the probability of obtaining 9 in 5 throws is :

31
A.ﬁ
5
2592
5
11944

b 5
1296

B.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_m4t0hEqtEKJI
https://dl.doubtnut.com/l/_xTZQDZZkvehd

49. The chance of an event happening is the square of the chance of a
second event but the odds against the first are the cube of the odds

against the second. The chances of the events are

D. none of these

Answer: A

o Watch Video Solution

50. What is the probability that the 13th days of a randomly chosen

months is Friday?


https://dl.doubtnut.com/l/_5bfyW4woj4ZM
https://dl.doubtnut.com/l/_4Se2XYJnAgUF

D. none of these

Answer: C

o Watch Video Solution

51. There are 20 cards. Ten of these cards have the letter I printed on
them and the other 10 have the letter I printed on them. If three cards
picked up at random and kept in the same order, the probability of

making word IITis 1/9,1/3b.1/16,1/4c.1/4,1/2d. none of these

o co| = w N
Ro @l glo 3|a

Answer: B



https://dl.doubtnut.com/l/_4Se2XYJnAgUF
https://dl.doubtnut.com/l/_TDgyDGRvkLUB

| ¥ vvatch vidaeo sSolution J

52. Two coins and a die are tossed. The probability that both coins fall

heads and the die shows a 3 or 6, is

A1/8
B.1/12
c.1/16

D. none of these

Answer: B

o Watch Video Solution

53. A die is rolled thrice, find the probability of getting a larger number

each time than the previous number.

A 15
" 216


https://dl.doubtnut.com/l/_TDgyDGRvkLUB
https://dl.doubtnut.com/l/_tc0NiGQ5hdEr
https://dl.doubtnut.com/l/_NVP7S4GjT5Op

54
c 13
" 216

18

Answer: B

o Watch Video Solution

54. Hundred identical cards are numbered from 1 to 100. The cards are
well shuffled and then a card is drawn. Find the probability that the
number on the card drawn is :

(i) a multiple of 5.

1
" 100

9
" 100

19
" 100

D. none of these


https://dl.doubtnut.com/l/_NVP7S4GjT5Op
https://dl.doubtnut.com/l/_TuSlh9eSkoFi

Answer: C

° Watch Video Solution

55. Three six faced dice are tossed together, then the probability that
exactly two of the three numberss are equal, is

A.165/216

B.177 /216

C.51/216

D.90/216

Answer: D

° Watch Video Solution

56. A party of n ladies sit at a round table. Find odds against two specified

ladies sitting next to each other


https://dl.doubtnut.com/l/_TuSlh9eSkoFi
https://dl.doubtnut.com/l/_4iWHCJGR6Eme
https://dl.doubtnut.com/l/_6Jrk8vTVNoWF

A2:n—3

B.n—3:2

Cn—2:2

D.2:n — 2

Answer: B

o Watch Video Solution

57. A and B stand in a ring with 10 other persons . If the arrangement of
the twelve persons is at random , find the chance that there are exactly
three persons between A and B.

A2/11

B.9/11

c.1/11

D. none of these


https://dl.doubtnut.com/l/_6Jrk8vTVNoWF
https://dl.doubtnut.com/l/_Xa4y9LpC6ex1

Answer: A

° Watch Video Solution

58. A person writes letters for his friends and addresses three envelops.
These letters are placed in envelopes at random and posted. What is the
chance that no friend receives the correct letter ?

A1/6

B.5/6

Cc.1/3

D.2/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Xa4y9LpC6ex1
https://dl.doubtnut.com/l/_DBOh7WuS68yf

59. The sum of two positive quantities is equal to 2n. Find the probability

that their product is not less than 3 /4 times their greatest product.

A3/4
B.1/2
c.1/4

D. none of these

Answer: B

o Watch Video Solution

60. If p is the probability that a man aged x will die in a year, then the
probability that out of n men A, Ay, A, each aged z, A; will die in an

year and be the first to die is 1—(1—p)" b. (1-p" c

1/n[1—(1-p)"]d.1/n(1-p)"

Al—(1-p)"


https://dl.doubtnut.com/l/_qcQzEW0n69gW
https://dl.doubtnut.com/l/_AUYk7gFFqrFg

1

C.—|1—(1—-p)"
—[1-(1-p)"]
1

D. — (1 —p)"
n( D)

Answer: C
° Watch Video Solution

61. If the letters of the word MISSISSIPPI are written down at random in a

row, what is the probability that four S s come together.

A 8
" 165

B %
165

c 161
" 165

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AUYk7gFFqrFg
https://dl.doubtnut.com/l/_Jvq2lmb03b9d

62. If the letters of the word MISSISSIPPI are written down at random in a

row, what is the probability that four S s come together.

D. none of these

Answer: B

o Watch Video Solution

63. If the letters of the word REGULATIONS be arranged at random, find
the probability that there will be exactly four letters between the R and

the E.


https://dl.doubtnut.com/l/_Jvq2lmb03b9d
https://dl.doubtnut.com/l/_Dz81X1DqbRbQ
https://dl.doubtnut.com/l/_JPo6QF24pIHV

3
" 55

49
' 55

D. none of these

Answer: A

o Watch Video Solution

64. If the letters of the word REGULATIONS be arranged at random, find
the probability that there will be exactly four letters between the R and
the E.

A1/10

B.1/9

Cc.1/5

D.1/2

Answer: B

[ - |


https://dl.doubtnut.com/l/_JPo6QF24pIHV
https://dl.doubtnut.com/l/_vBD7cIdb7XY7

| @ Watch Video Solution J

65. A bag contains a white and b black balls. Two players, AandB
alternately draw a ball from the bag, replacing the ball each time after
the draw till one of them draws a white ball and wins the game. A begins
the game. If the probability of A winning the game is three times that of
B, then find theratioa:b

Al:2

B.2:1

C.1:1

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vBD7cIdb7XY7
https://dl.doubtnut.com/l/_YcUO8KgRnYhF

66. Two number aandb aer chosen at random from the set of first 30

natural numbers. Find the probability that a® — b’ is divisible by 3.

Answer: D

o Watch Video Solution

67. Cards are drwn one by one without replacement from a pack of 52

cards. The probability that 10 cards will precede the first ace is

241
" 1456

164
" 4165

¢ B
" 884


https://dl.doubtnut.com/l/_Dv5ZVI454KWe
https://dl.doubtnut.com/l/_smkLl9BAbScq

D. none of these

Answer: B

° Watch Video Solution

68.If A and B are independent events, then A" and B' are also

A.not independent

B. also independent

C. mutually exclusive

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_smkLl9BAbScq
https://dl.doubtnut.com/l/_oiv2Ijn0uROi

69. A bag contains 4 tickets numbered 1, 2, 3, 4 and another bag
contains 6 tickets numbered 2, 4, 6, 7, 8, 9. One bag is chosen and a
ticket is drawn. The probability that the ticket bears the number 4, is
equal to

A.1/48

B.1/8

C.5/24

D. none of these

Answer: C

o Watch Video Solution

70. A six-faced dice is so biased that it is twice as likely to show an even
number as an odd number when thrown. It is thrown twice, the

probability that the sum of two numbers thrown is even is


https://dl.doubtnut.com/l/_U9UzlL9fg227
https://dl.doubtnut.com/l/_E6TBnmXj6FM5

A.5/9
B.5/8
C.1/2

D. none of these

Answer: B

o Watch Video Solution

71. A bag contains an assortment of blue and red balls. If two balls are
drawn at random, the probability of drawing two red balls is five times
the probability of drawing two blue balls. Furthermore, the probability of
drawing one ball of each color is six time the probability of drawing two
balls. The number of red and blue balls in the bag is 6,3 b. 3,6 c. 2,7 d.

none of these

A.6,3

B.3,6


https://dl.doubtnut.com/l/_E6TBnmXj6FM5
https://dl.doubtnut.com/l/_gbz2nUBdjD6E

C.23

D. none of these

Answer: A

° Watch Video Solution

72. Asingle letter is selected at random from the word PROBABILITY. What

is the probability that it is a vowel?

A.3/11
B.4/11
c.2/11

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gbz2nUBdjD6E
https://dl.doubtnut.com/l/_JHVYxhe3qwQx
https://dl.doubtnut.com/l/_uM5maqopAbIG

73. Three letters are written to different persons , and the addresses on
the three envelopes are also written . Without looking at the addresses ,
find the probability that the letters go into the right envelopes .

A1/27

B.1/6

C.1/9

D. none of these

Answer: B

o Watch Video Solution

74. A coin is tossed three times. The probability of getting head and tail

alternately, is

A1/8

B.1/2


https://dl.doubtnut.com/l/_uM5maqopAbIG
https://dl.doubtnut.com/l/_ItfnVL491AZW

c.1/4

D. none of these

Answer: C

° Watch Video Solution

75. A bag contains 50 tickets numbered 1, 2, 3, ., 50 of which five are

drawn at random and arranged in ascending order of magnitude (x 1

.20 02
A.
.50 Cs
29 C
B. 2
.50 05
C .20 02 X .29 02
S0y

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ItfnVL491AZW
https://dl.doubtnut.com/l/_GGiaz2kovn2v
https://dl.doubtnut.com/l/_XV5zSJj7Wk0K

76. One ticket is selected at random from 100 tickets numbered
00, 01, 02, ..., 99. Suppose A and B are the sum and product of the digit
found on the ticket, respectively. Then P((A = 7) /(B = 0)) is given by
A.2/13
B.2/19

C.1/50

D. none of these

Answer: B

o Watch Video Solution

77. If the probability that A and B will die within a year are p and q
respectively, then the probability that only one of them will be alive at the

end of the year, is

A ptq


https://dl.doubtnut.com/l/_XV5zSJj7Wk0K
https://dl.doubtnut.com/l/_7VzP77sKy0dL

B.p+q-2pq

C.p+g-pq

D.p+q+pq

Answer: B

o Watch Video Solution

78. Four positive integers are taken at random and are multiplied
together. Then the probability that the product ends in an odd digit than
5is

A. 609 /625

B.16 /625

C.2/5

D.3/5

Answer: B

[ - 1


https://dl.doubtnut.com/l/_7VzP77sKy0dL
https://dl.doubtnut.com/l/_5wPj3bBJTRfK

| @J Watch Video Solution J

79. Two cards are drawn from a well shuffled deck of 52 cards.The

probability that one is red card and the other is a queen.

A.4/51

B.16/221

C.50/663

D. none of these

Answer: C

o Watch Video Solution

80. The probability that the roots of the equation

1
x2—l—n:c+§+ % = O are real wheren € N such thatn < 5,is

A1/5


https://dl.doubtnut.com/l/_5wPj3bBJTRfK
https://dl.doubtnut.com/l/_GC5Y60UKLwEj
https://dl.doubtnut.com/l/_UZL9zg41y736

B.2/5
C.3/5

D.4/5

Answer: D

° Watch Video Solution

81. A matrix is chosen at random from the set of all matrices with
elements O and 1 only. The probability that value of the determinant of
matrix chosen is positive, is :

Al/2

B.3/16

C.11/16

D.13/16

Answer: B

[ - |


https://dl.doubtnut.com/l/_UZL9zg41y736
https://dl.doubtnut.com/l/_pHPKAulB0ihv

| @J Watch Video Solution J

82. If an integer p is chosen at random in the interval 0 < p < 5, then

1
the probality that the roots of the equation z? + pz + p + — =0are

4 2

real is -
Al/5
B.2/5

c.3/5

D.4/5

Answer: C

o Watch Video Solution

83. Dialling a telephone number an old man forgets the last two digits

remembering only that these are different dialled at random. The


https://dl.doubtnut.com/l/_pHPKAulB0ihv
https://dl.doubtnut.com/l/_EDYmmBmjIXV8
https://dl.doubtnut.com/l/_jF7Q2jecLTsQ

probability that the number is dialled correctly is 1/45b.1/90 c. 1/100
d. none of these

A1/45

B. 190

C.1/100

D. none of these

Answer: B

o Watch Video Solution

84. Three squares of Chess board are selected at random. Find the
probability of getting 2 squares of one colour and other of a different
colour.

A.16/21

B.8/21

C.32/12


https://dl.doubtnut.com/l/_jF7Q2jecLTsQ
https://dl.doubtnut.com/l/_bJrJ2hfwxsHA

D. none of these

Answer: A

° Watch Video Solution

85. If n integers taken art random are multiplied together , then the
probability that eh last digit of the product is 1, 3, 7, or 9 is 2" /5" b.

4" — 2" /5" c.4" /5" d. none of these

4TL
C. —
5

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_bJrJ2hfwxsHA
https://dl.doubtnut.com/l/_F2Qy4iuNVCn0
https://dl.doubtnut.com/l/_on76t7tiyWg3

86. If n positive integers are taken at random and multiplied together,

then the probability that the last digit of the product is 2,4,6 or 8, is

D. none of these

Answer: C

o Watch Video Solution

87. The probability that a teacher will give a surprise test during any class
is 1/5. If a student is absent on two day what is the probability that he will
miss atleast one test.

A4/5

B.2/5


https://dl.doubtnut.com/l/_on76t7tiyWg3
https://dl.doubtnut.com/l/_gcPkWViPc6IK

C.7/5

D.9/25

Answer: D

o Watch Video Solution

88. about to only mathematics

9 \°

Al —
(5)
8\’

5. (55 )
3 7

C|—-
(5)

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gcPkWViPc6IK
https://dl.doubtnut.com/l/_RKd3Xp2VkUAD

89. Five coins whose faces are marked 2, 3 are thrown. What is the
probability of obtaining a total of 12?

A.5/32

B.11/16

C.5/16

D.10/16

Answer: C

° Watch Video Solution

Section Il - Assertion Reason Type

1
1. Statement-1: If —(1 + 5p),

1 1
z (1+2p),§(1—p) and —(1 — 3p) are

1
3 5
probabilities of four mutually exclusive events, then p can take infinite

number of values.

Statement-2 : If A, B, C and D are four mutually exclusive events, then


https://dl.doubtnut.com/l/_tGSyHjOLnbtV
https://dl.doubtnut.com/l/_AFuFhkYhDQaj

P(A), P(B), P(C), P(D) > 0

and P(A) + P(B) + P(C) + P(D) <1

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

o Watch Video Solution

2. Statement-1 : A natural number is chosen at random. The probability
that the sum of the squares of its digits is 93, is O.
Statement-2 : A number is divisble by 31 iff sum of its digits is divisible by

31


https://dl.doubtnut.com/l/_AFuFhkYhDQaj
https://dl.doubtnut.com/l/_DY0naLaOi9Wr

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: C

o Watch Video Solution

3. Let m € N and suppose three numbers are chosen at random from

the numbers 1,2,3,..m.

Statement-1: If m=2n fro some n € N, then the chosen numbers are in A.

P. with probability —— .
P Y on—1)

Statement-2 : If m=2n+1, then the chosen numbers are in AP. with

bability "
rooabnlilil _—
P T —


https://dl.doubtnut.com/l/_DY0naLaOi9Wr
https://dl.doubtnut.com/l/_LsUbXmOqk6Tu

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

o Watch Video Solution

4. Let X be a set containing n elements. If two subsets A and B of X are

picked at random, the probability that A and B have the same number of

elements is

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.


https://dl.doubtnut.com/l/_LsUbXmOqk6Tu
https://dl.doubtnut.com/l/_q5mLdAjJ9LLO

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: C

o Watch Video Solution

5.Let A and B be two events such that P(A U B) = P(A N B).Then,
Statement-1: P(A N E) = P(Z N B) =0
Statement-2: 'P(A)+P(B)=1
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.


https://dl.doubtnut.com/l/_q5mLdAjJ9LLO
https://dl.doubtnut.com/l/_U56ahBkF0c5t

D. Statement-1 is False, Statement-2 is True.

Answer: C

o Watch Video Solution

6. Let A, B and C be three events associated to a random experiment.
Statement-1: If AN B C C, then P(C) > P(A)+ P(B) — 1.
Statement-2 : If
P{(AnB)U(BNC)U(CNA)} < min{P(AUB),P(BUC),P(CU
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.


https://dl.doubtnut.com/l/_U56ahBkF0c5t
https://dl.doubtnut.com/l/_Dqph0TmAktY1

Answer: B

o Watch Video Solution

7. An urn contains m white and n black balls. A ball is drawn at random

and in put back into the urn along with k additional balls of the same

colour as that of the ball drawn. A ball is again drawn at random. What is

the probability that the ball drawn now is white ?

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Dqph0TmAktY1
https://dl.doubtnut.com/l/_twBPDNBySNHG

8. Four tickets marked 00, 01, 10, 11 respectively are placed in a bag. A
ticket is drawn at random five times being replaced each time. Find the
Probability that the sum of the the numbers on tickets thus drawn is 23.
A.25 /256
B.100 /256

C.231/256

D. none of these

Answer: A

o Watch Video Solution

9. Two persons each makes a single throw with a pair of dice. Find the

probability that the throws are unequal.

A1/6


https://dl.doubtnut.com/l/_twBPDNBySNHG
https://dl.doubtnut.com/l/_kOugALxfSWnf
https://dl.doubtnut.com/l/_vp7tk3vuCPRR

B.73/6°
c.51/6°

D. none of these

Answer: D

o Watch Video Solution

10. AandB toss a fair coin each simultaneously 50 times. The probability
that both of them will not get tail at the same toss is a. (3/4)" b.

(2/7)" c.(1/8)°d.(7/8)"

Answer: A

[ )|


https://dl.doubtnut.com/l/_vp7tk3vuCPRR
https://dl.doubtnut.com/l/_qVKleuHwDVHR

| Y Watch Video Solution J

11. A bag contains (2n + 1) coins. It is known that n of these coins have a
head on both sides whereas the rest of the coins are fair. A coin is picked
up at random from the bag and is tossed. If the probability that the toss

results in a head is o) , determine the value of n..

A.10

D.13

Answer: A

o Watch Video Solution

12. The number of seven digit numbers divisible by 9 formed with the

digits ,1,2,3,4,5,6,7,8,9 without repetition is (A) 7! (B) "9P_7(C)3(7")(D)


https://dl.doubtnut.com/l/_qVKleuHwDVHR
https://dl.doubtnut.com/l/_La4RlGK9armN
https://dl.doubtnut.com/l/_bZfzwh5Ad1ta

4(71)

A2/9
B.1/5
Cc.1/3

D.1/9

Answer: D

° Watch Video Solution

13. Three dice are thrown simultaneously. What is the probability of
getting 15 as the sum?

A.1/216

B.1/72

C.5/108

D.1/18


https://dl.doubtnut.com/l/_bZfzwh5Ad1ta
https://dl.doubtnut.com/l/_aHUrnbctcvGE

Answer: C

° Watch Video Solution

14. Probability that a student will succeed in LLT. Entrance test is 0.2 and
that he will succeed in Roorkee entrance test is 0.5. If the probability that
he will be successful at both the places is 0.3, then the probability that he
does not succeed at both the places, is

A.04

B.0.3

C.0.2

D.0.6

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_aHUrnbctcvGE
https://dl.doubtnut.com/l/_cZGxFDSGCBGW

15. A speaks the truth 4 out of 5 times. He throws a die and reports that

there was a 6, the probability that actually there was a 6 is

A4/9
B.5/9
C.3/10

D. none of these

Answer: A

o Watch Video Solution

16. In an entrance test, there are multiple choice questions. There are four
possible answers to each question, of which one is correct. The
probability that a student knows the answer to a question is 90%. If the
gets the correct answer to a question, then find the probability that he

was guessing.


https://dl.doubtnut.com/l/_PAhHiooWONZM
https://dl.doubtnut.com/l/_po4G2dRJpbsm

A.37/40
B.1/37
C.36/37

D.1/9

Answer: B

o Watch Video Solution

17. A letter is known to have come either from LONDON or CLIFTON. On
the envelope just two consecutive letters ON are visible. What is the
probability that the letter has come from (i) LONDON (ii) CLIFTON?
A.5/17
B.12/17

C.17/30

D.3/5


https://dl.doubtnut.com/l/_po4G2dRJpbsm
https://dl.doubtnut.com/l/_h1o1PXJdcdXp

Answer: B

° Watch Video Solution

18. turn contains 6 white and 4 black balls. A fair dice is rolled and that
number of balls are chosen from the urn. Find the probability that the
balls selected are white.

A1/5

B.1/6

C.1/7

D.1/8

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_h1o1PXJdcdXp
https://dl.doubtnut.com/l/_UKMrOnaTek1u

19. An urn contains five balls. Two balls are frawn and are found to be

white. Find the probability that all the balls are white.

A3/4
B.3/5
C.3/10

D.1/2

Answer: D

o Watch Video Solution

20. about to only mathematics



https://dl.doubtnut.com/l/_NbEjtF2lF0AJ
https://dl.doubtnut.com/l/_qBSHXP7MEMdh

Answer: B

° Watch Video Solution

21. A biased die is tossed and the respective probabilities for various faces

to turn up are

Face 1 2 3 4 5% 6
Probability 0.1 0.24 0.19 0.18 0.15 0.14

If an even face has turned up, then the probability that it is face 2 or face

4 is .

A.0.25

B.0.42

C.0.75

D.0.9

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qBSHXP7MEMdh
https://dl.doubtnut.com/l/_Rsmr24COLgon
https://dl.doubtnut.com/l/_d4cFkaQDtxbB

22.In a bag there are three tickets numbered 1, 2, 3. A ticket is drawn at
random and put back, and this is done four times the probability that the
sum of the numbers is even is:

A.41/81

B.39/81

C.40/81

D. none of these

Answer: A

° Watch Video Solution

Chapter Test

1. Two friends AandB have equal number of daughters. There are three

cinema tickets which are to be distributed among the daughters of


https://dl.doubtnut.com/l/_d4cFkaQDtxbB
https://dl.doubtnut.com/l/_qMHAqUBGsyu2

AandB . The probability that all the tickets go to the daughters of A is
1/20. Find the number of daughters each of them have.

A4

B.5

C.6

D.3

Answer: D

o Watch Video Solution

2. A bag contains n white and n red balls. Pairs of balls are drawn without

replacement until the bag is empty. Show that the probability that each

n
pair consists of one white and one red ball is —

(2n)C,

"o,
2TL
) 2n Cn
2n



https://dl.doubtnut.com/l/_qMHAqUBGsyu2
https://dl.doubtnut.com/l/_Za2wLkCAu1DG

2n
D.
(2n)!

Answer: B

° Watch Video Solution

3. A bag contains 10 white and 3 black balls. Balls are drawn one by one
without replacement till all the black ball are drawn. The probability that
the procedure of drawing balls will come to an end at the seventh drawn

is :

105
" 286

15
" 286

181
" 286

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Za2wLkCAu1DG
https://dl.doubtnut.com/l/_EVEB3R6dJxPO

4, If A, A, ... A, are n independent events such that

1
P(A) = P K =1,2,3, ....,n; then the probability that none of

the n events occur is

(n+1)(n + 2)

D. none of these

Answer: B

o Watch Video Solution

5. Three of the six vertices of a regular hexagon are chosen the random.

What is the probability that the triangle with these vertices is equilateral.

A1/2

B.1/5


https://dl.doubtnut.com/l/_5bFZFuBq1mXi
https://dl.doubtnut.com/l/_7aFnFPO8OIRe

C.1/10

D.1/20

Answer: C

° Watch Video Solution

6. Let
0<P(A)<1,0<P(B)<1land P(LAUB) =P(A) + P(B) — P(A)P
then,

A.P(B/A) = P(B) — P(A)

B. P(A°U B°) = P(A°) + P(B°)

. P((AU B)°) = P(A°)P(B)

D. P(A/B) = P(B)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7aFnFPO8OIRe
https://dl.doubtnut.com/l/_G5gldTwtPBsI

7. Write the probability that a number selected at random from the set of

first 100 natural numbers is a cube.

Answer: A

o Watch Video Solution

8. For any two independent events E; and E, P{(E1 UE;) N (E N E}

is equal to

A <1/4

B. >1/4


https://dl.doubtnut.com/l/_G5gldTwtPBsI
https://dl.doubtnut.com/l/_nNOKkItAXCjx
https://dl.doubtnut.com/l/_csaHnjuDUQot

C. >1/2

D. none of these

Answer: A

o Watch Video Solution

9. If Aand B are two events than the value of the determinant choosen at
random from all the determinants of order 2 with entries O or 1 only is
positive or negative respectively. Then (a) P(A) > P(B) (b)
P(A) < P(B) (c) P(A) = P(B) (d)None of these

A P(A) > P(B)

B. P(A) < P(B)

C.P(A) = P(B) =1/2



https://dl.doubtnut.com/l/_csaHnjuDUQot
https://dl.doubtnut.com/l/_4mWJm3V9AvnZ

l @ yvatch video Solution ]

10. The probability that a man will live 10 more years is 1/4 and the
probability that his wife will live 10 more years is 1/3. Then the
probability that neither will be alive in 10 years, is

A.5/12

B.1/2

C.7/12

D.11/12

Answer: B

o Watch Video Solution

11. The probability that atleast one of the events A and B occurs is 0.6. If A

and B occur simultaneously with probability 0.2, then P(Z) + P(E) is

A. 18


https://dl.doubtnut.com/l/_4mWJm3V9AvnZ
https://dl.doubtnut.com/l/_FqrPEuIQiL4N
https://dl.doubtnut.com/l/_ufFbTTXzTlt5

B. 0.6

C.11

D.14

Answer: C

o Watch Video Solution

12. A man alternately tosses a coin and throws a die beginning with the
coin. The probability that he gets a head in the coin before he gets a 5 or
6 in the diceis 3/4b.1/2c.1/3 d. none of these

A3/4

B.1/2

Cc.1/3

D. none of these

Answer: A

[ - ]


https://dl.doubtnut.com/l/_ufFbTTXzTlt5
https://dl.doubtnut.com/l/_GxAONYYuo4UP

| @ Watch Video Solution J

13. A and B are two independent events. The probability that A and B
occur is 1/6 and the probability that neither of them occurs is 1/3. Find
the probability of occurrence of two events.

A P(A)=1/2,P(B)=1/3

B.P(A) =1/2,P(B) =1/6

C.PA)=1/3,P(B)=1/6

D. none of these

Answer: A

o Watch Video Solution

14. A, B, C are any three events. If P(S) denotes the probability of S

happening, then P(AN (BUC(C))=


https://dl.doubtnut.com/l/_GxAONYYuo4UP
https://dl.doubtnut.com/l/_SuA7H8uj1DAn
https://dl.doubtnut.com/l/_By90e1ubi9CS

A.P(A) + P(B)+ P(C) — P(ANB) —P(ANCQC)
B.P(A) + P(B) + P(C) — P(B)P(C)
C.P(ANB)+P(ANC) — P(B)P(C)

D. P(A) + P(B) + P(C)

Answer: C

o Watch Video Solution

15.In a class of 125 students 70 passed in Mathematics, 55 in Statistics,
and 30 in both. Then find the probability that a student selected at
random from the class has passed in only one subject.

A.13/25

B.3/25

C.17/25

D.8/25


https://dl.doubtnut.com/l/_By90e1ubi9CS
https://dl.doubtnut.com/l/_d2pTdXLeD6a4

Answer: A

° Watch Video Solution

16. A box contains 10 mangoes out of which 4 are rotten. Two mangoes
are taken out together. If one of them is found to be good, then find the
probability that the other is also good.

A1/3

B.8/15

C.5/13

D.2/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_d2pTdXLeD6a4
https://dl.doubtnut.com/l/_ulGdCHyeCrX8

17. A lot consists of 12 good pencils , 6 with minor defects and 2 with
major defects .A pencil is chosen at random .Find the probability that this
pencil is not defective.

A.3/5

B.3/10

Cc.4/5

D.1/2

Answer: A

o Watch Video Solution

18.3 mangoes and 3 apples are in a box. If 2 fruits are chosen at random,

the probability that one is a mango and the other is an apple, is

A.3/5

B.5/6


https://dl.doubtnut.com/l/_lJutZZa5NpCT
https://dl.doubtnut.com/l/_Z4A7Bdddv4TH

C.1/36

D. none of these

Answer: A

° Watch Video Solution

19. There are 3 bags which are known to contain 2 white and 3 black, 4
white and 1 black, and 3 white and 7 black ball, respectively. A ball is drawn
at random from one of the bags and found to the black ball. Then the
probability that it was drawn from the bag containing the most black ball
is7/15b.5/19 c.3/4 d. none of these

A.7/15

B.5/19

c.3/4

D. none of these

Answer: A


https://dl.doubtnut.com/l/_Z4A7Bdddv4TH
https://dl.doubtnut.com/l/_V9iOOp6QFfPb

o Watch Video Solution

20. Among the workers in a factory only 30% receive bonus and among

those receiving bonus only 20% are skilled. The probability that a

randomly selected worker is skilled and is receiving bonus, is

A.0.03

B. 0.02

C.0.06

D.0.015

Answer: C

o Watch Video Solution

21. If two events AandB are such that
P(A°) =0.3,P(B) =0.4,andP(A N B°) = 0.5, then find the value

of P[B/(A U B%)].


https://dl.doubtnut.com/l/_V9iOOp6QFfPb
https://dl.doubtnut.com/l/_OTiBfChnfUsN
https://dl.doubtnut.com/l/_2E5sXGmDFqvp

A.0.20

B.0.25

C.0.30

D.0.35

Answer: B

o Watch Video Solution

22. An almirah stores 5 black and 4 white socks well mixed. A boy pulls out

2 socks at random. The probability that 2 are of the same colour is

A4/9
B.5/8
C.5/9

D.7/12

Answer: A



https://dl.doubtnut.com/l/_2E5sXGmDFqvp
https://dl.doubtnut.com/l/_cmTibzgfAnee

| o Watch Video Solution

23. There are 4 white and 4 black in a bag and 3 balls are drawn at
random. If balls of same colour are identical, the probability that none of

them is black, is

Al/4
B.1/14
c.1/2

D. none of these

Answer: A

o Watch Video Solution

24. Cards are drawn one-by-one at random from a well-shuffled pack of 52

playing cards until 2 aces are obtained from the first time. The probability


https://dl.doubtnut.com/l/_cmTibzgfAnee
https://dl.doubtnut.com/l/_lh0NWuF6WtAy
https://dl.doubtnut.com/l/_8L8AGJDygC4Q

that 18 draws are obtained for this is 3/34 b. 17 /455 c. 561 /15925 d.

none of these

A.3/34
B.17 /455
C. 561 /15925

D. none of these

Answer: C

o Watch Video Solution

25. Five different objects A, Ay, A3, A4, Ay are distributed randomly in
5 places marked 1, 2, 3, 4, 5. One arrangement is picked at random. The
probability that in the selected arrangement, none of the object occupies

the place corresponding to its number, is

A.119/120

B.1/15


https://dl.doubtnut.com/l/_8L8AGJDygC4Q
https://dl.doubtnut.com/l/_3oqMOJfKZtKT

C.19/30

D. none of these

Answer: C

° Watch Video Solution

26. A father has 3 children with at least one boy. The probability that he
has 2 boys and 1girlis1/4b.1/3 c.2/3d. none of these

Al/4

B.1/3

c.2/3

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3oqMOJfKZtKT
https://dl.doubtnut.com/l/_qEZPWlnOv7nE
https://dl.doubtnut.com/l/_DO64ldHkjYCf

27. Out of 13 applicants for a job, there are 5 women and 8 men. It is
desired to select 2 persons for the job. The probability that at least one
of the selected persons will be a woman is

A.25/39

B.14/39

C.5/13

D.10/13

Answer: A

o Watch Video Solution

28. A box contain 100 tickets numbered 1, 2,....., 100. Two tickets are chosen
at random. It is given that the minimum number on the two chosen

tickets is not more than 10. The maximum number on them is 5 with

A.13/15


https://dl.doubtnut.com/l/_DO64ldHkjYCf
https://dl.doubtnut.com/l/_nla7tlry8TB4

B.1/330
c.1/3

D.1/9

Answer: D

° Watch Video Solution

29. A wire of length | is cut into three pieces. Find the probability that the

three pieces form a triangle.

A1/2
B.1/4
C.2/3

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nla7tlry8TB4
https://dl.doubtnut.com/l/_abjn7JfwKhJ2

30.1f z € [0, 5], then what is the probability that 2> — 3z +2 > 0

A4/5
B.1/5
C.2/5

D. none of these

Answer: A

o Watch Video Solution

31.1f a € [ — 20, 0], find the probability that the graph of the function
y = 162> + 8(a + 5)z — Ta — 5 s strickly above the X-axis.

Al/2

B.1/17

C.17/20


https://dl.doubtnut.com/l/_abjn7JfwKhJ2
https://dl.doubtnut.com/l/_EtY6qMpDnOO5
https://dl.doubtnut.com/l/_A0Bca7FCAW0d

D. none of these

Answer: D

° Watch Video Solution

32.The probability that A can solve a problem is 2/3 and B can solve it is
3/4. If both attempt the problem, what is the probability that the
problem gets solved ?

A 11/12

B.7/12

C.5/12

D.9/12

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_A0Bca7FCAW0d
https://dl.doubtnut.com/l/_DztJYy2oSokY
https://dl.doubtnut.com/l/_DnGjBDb7nbdg

33. A bag contains (2n + 1) coins. It is known that n of these coins have a
head on both sides whereas the rest of the coins are fair. A coin is picked
up at random from the bag and is tossed. If the probability that the toss

31
results in a head is o) , determine the value of n.

A.10

B. 1

D.13

Answer: A

o Watch Video Solution

34. Five boys and three girls are seated at random in a row. The

probability that no boy sits between two girls, is

A.1/56

B.1/8


https://dl.doubtnut.com/l/_DnGjBDb7nbdg
https://dl.doubtnut.com/l/_RFQa9JnuAjJl

C.3/28

D. none of these

Answer: C

° Watch Video Solution

35, A and B are two independent
P(A) = %, P(AUB) = % Then ,P(E):
A.3/8
B.2/7

c.7/9

D. none of these

Answer: A

events

such

that

° Watch Video Solution



https://dl.doubtnut.com/l/_RFQa9JnuAjJl
https://dl.doubtnut.com/l/_1r1TIb4fVxfl
https://dl.doubtnut.com/l/_T8D2kCK7bB78

36. A and B are two independent events such that their probabilities are

3

2
0 and T respectively. The probability of exactly one of the events

happening, is

A.23 /50
B.1/2
C.31/50

D. none of these

Answer: A

o Watch Video Solution

37. There are 7 seats in a row. Three persons take seats at random the
probability that the middle seat is always occupied and no two persons

are consecutive is

A.9/70


https://dl.doubtnut.com/l/_T8D2kCK7bB78
https://dl.doubtnut.com/l/_QpNlLr9a3gIO

B.9/35
C.4/35

D. none of these

Answer: C

o Watch Video Solution

38. 10 different books and 2 different pens are given to 3 boys so that
each gets equal number of things. The probability that the some boy
does not receive both the pens, is

A.8/11

B.7/11

C.2/3

D.6/11

Answer: A

[ - 1


https://dl.doubtnut.com/l/_QpNlLr9a3gIO
https://dl.doubtnut.com/l/_UT6lvq4NaFlT

| @J Watch Video Solution J

39. 4 five-rupee coins, 3 two-rupee coins and 2 one-rupee coins are
stacked together in a column at random. The probability that the coins of
the same denomination are consecutive is

A.13/9!

B.1/210

C.1/35

D. none of these

Answer: B

° Watch Video Solution

40. Two cards are drawn at random from a pack of 52 cards. The

probability of getting at least a spade and an ace is :


https://dl.doubtnut.com/l/_UT6lvq4NaFlT
https://dl.doubtnut.com/l/_WjVtnMNd20bx
https://dl.doubtnut.com/l/_iL2T7oKLnCZF

A1/34

B.8/221

Answer: C

o Watch Video Solution

41. A and B appear for an interview for two posts. The probability of A's
section is (1/3) and that of B’s selection is (2/5). Find the probability
that only one of them will be selected.

A.7/15

B.8/15

C.2/15

D.4/15


https://dl.doubtnut.com/l/_iL2T7oKLnCZF
https://dl.doubtnut.com/l/_ffUpT7JtdjTe

Answer: A

° Watch Video Solution

42. Let S be the sample space of the random experiment of throwing
simultaneously two unbiased dice with six faces (numbered 1to 6) and let
Ey, = {(a,b) € S:ab=k} for k> 1 If pp = p(E;) for k> 1 then
correct among the following, is (Eamcet 2008)

A.p1 < p3o < pg <Dpg

B.p3s < Ps < P2 < P4

Cp <pn <ps <pg

D.p3g < P11 < Ps < P4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ffUpT7JtdjTe
https://dl.doubtnut.com/l/_tVTNdtVZVQI1

43.For k=1, 2, 3, the box By, contains k red balls and (k + 1) white balls. Let
1 1 1 .

P(By) = 3 , P(B;3) = 3 and P(B3) = E.A box is selected at random

and a ball is drawn from it. If a red ball is drawn, then the probability that

it has come from box Bs, is

A 35
78

1
39

10

C—
13

12

D. —
13

Answer: B

o Watch Video Solution

44. Four numbers are chosen at random from {1,2,3, ...... ,40}. The

probability that they are not consecutive is

A 1
" 2470


https://dl.doubtnut.com/l/_zRlb65yN7BXU
https://dl.doubtnut.com/l/_ATme7KM3v0Nd

B2
7969

2469
" 2470

7965
" 7969

Answer: C

° Watch Video Solution

45. A number n is chosen at random from {1,2,3,.,1000}. The probability

that n is a number which leaves a remainder 1 when divided by 7, is

AL
" 580

B 143
" 1000

o2
" 500

b 71
~ 1000

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ATme7KM3v0Nd
https://dl.doubtnut.com/l/_1dve5Zzs0eKj
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